UGC NET 2021 Folk Literature

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll & 3= difsme @

forgoiferRaa vl fdpil Rrafdencrn 3 31 - 31l ferll 3 (T-u) dRRA reAa™] oI YfeIord scol 3R 3EATUd] dal eATTUPI3i @ ourd
@I YFdd ol 3 faeafdencry i et sieamaml i e 1600 3 wrvil 3 1 o1 sifws! @ R R Yol 1-5 ab D IR S &

31eMuehl oI faeRIar d§cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerer areemuast B gferoradr (% )sremuds itz sre=mftrpsit bt gfererdar
A
B
o
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

ferer=r-C 3 sremaed] I et A, fawR-D siiz faeRr-A 3 aAfdafera su A sreanftopisii & aget e @1 gferera 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ 3R U gesll @ 3a= difsme @

forrarferRaa 1rvfl fp1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) PRIz srearuwm] @1 gferord sl 3R [eATUD] qell 3reATfiIsi & 3rofurd
Dl yqd @il 8 faeafienert 3 qe sreamael & i 1600 & ARl # 621 3R sifds! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt srezmaepl &b s SiiR farerI-A aen faerRr-B 3 wifdafera su A sreamuen] 6t iz o &4 fopdon siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]

1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gosil @ 3ar i :

forarferRaa rvfl fp1 feraferenert 3 sremer - 3rcmT eIl 3 (T-uws) PRIz srearuwm] @1 gfererd dcel 3R [eATUD] del 3reATfdIsii & 3ro[urd
Dl yqd @il 8 faeafdener 3 @et el &l in 1600 & ARl 3 621 3R Sifps] @ MR R Yool 1-5 dd D IR S :



31EATUD] DI fARIaR dear :

frerr sreemaast Y yfreraar (% )sieamu st sieenfiriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanftrastsii b Jizean siik fawRr-C 3 sieamaat bl Jizen @ dka fovdetr siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

foreatferRaa 1rufl et feraferenert 3 sremer - sremT foreril 3 (T-uw) PRia sreamu®! @1 gfererd dcel 3R s[eATUD] eIl eATfieIsii & ofurd
@l yFgd ol 3 feeafdencrn 3 @et sieamaml &f e 1600 3 Arvil 3 R oR) sifds! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

fRrerr reemuast 1 yfereraan (% )sieama st sieenfRriaii Bt g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafiencrr 3 sreamaamt &t aer Iz Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifds] @ smeR U gesll @ 3az difsme @

forrarferRaa 1rufl fp=1l feraferenert 3 srerer - 3rcrT eIl 3 (T-uw) PRixa srearuwm] @1 gfererd s 3R [eATUD] el 3reATfieIsii & sro[urd
@l yqd @il 8 faeafdener 3 @et sreamael & i 1600 & ARl & 621 3R sifos! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fASRIaR dear :
Rrerr preamuast &t yfererar (% )siearaw aiiz sl S gt
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenftrepisii &bl Fizen @ gfererd o siopurd fRrerr-D 3 sreamaosl &t e o1 Reaen 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]



Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERTUD HRI UIS D Yl & Sikrel Ydfer & ufaderoefierar sterar sia=rar oot fop21 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRider urgeicpa [Option ID = 14521]

Instructional variety/aifdiferes fafderar [Option ID = 14522]

Comprehension/zmtst [Option ID = 14523]

Procedural knowledge/gfégziicares siret [Option ID = 14524]

A WN -

Correct Answer :-

e Thinking curriculum/Rider urgerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

R IRDR D 181 HGIeRI gRI Fanferd wa.siLal. 2. (MOOCs) ygrot @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsimsfoier) @ fere
fopaer agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agsfa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dl - | : R Ef sraren @ Fu A 4 ad 6l 39 D arerd I fpmefia Fafar & Wil acd U Fere o= 3id 3

@l - |l : Jaensii & yfd Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdell BR Sidr 3 &b el I Yol:
Ieyfea ordl fopan s Arar 3R a6 guizu A fagsy 8 smar 3

SURITb Dol D 3Iclid H, ofld U s1w iyl 3 A Jt IR BI TwRIel HIferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2@t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 8, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@emt | swer 8, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iiz | 2leif 38t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

Rxet -1 Rxeht -l

(aif¥eea @1 segfor el deq) (Ffer gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orifaftrs Fgfa




C. Tofiler wioret (i Roc) Ill. goerep Fggfer

D. sircatopsia IV. nBre Fgfer
il feu o1u faasedl 3 A A8 3R gforo :

[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D- Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
A-1,B -1V, C-1ll, D - [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAIET 3893l @ fé1e IHSATGIcAD &I 3 ol IL9AT I HdHIferee oo strer 3 :

A. Jcaiwor

B. e forerizur e

C. 3ast

D. remefar

E. sior

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]

2. B, Cand D only/@ae B, C, D
[Option ID = 14538]

3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A BandConly/@ac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD i1 difeads zffedlvil A g 3 3z YeoiRr ael uz earer dfoga wd 3 dal A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gsuferfdrsirer [Option ID = 14542]

3. Constructionism/2izdaeicamdar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-

e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:



fop2t uf¥acen & Jder 3 BRI B PR oNer 3 Riftoer UGeRN, 31¢RIeT ARl FeureiiRI Siiz SRRl frcRIRil & JiRilsiel Bt wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/fggster [Option ID = 14545]

Content analysis/fawer Jmsf 3wt [Option ID = 14546]
Corpus/@mrda [Option ID = 14547]

Mediation/siezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/feprstior [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & dogp uglt @ fere wedl @ Adiaw &I usare @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI APIbd formrct

B. rside @ ka1 &l svren a3

C. ore @1 Arrwd (T) gra o3

D. gA® oIcid @ AR1wd @ (T) D ol A Renfra o3

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents
approach
B.
Consensus |Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. arelRes ||, sicIe1-31cTe1 AGT &I I3 @) v ure A fashha s sirar 3
efcmroT RRY IacIansil & s ot & sirar 3
B. srdaara
Il. acet taral @l faolR1a fosan S
dcel e uR SIIeI 3




C. 3¢ freaduvr |l 3mRIEE siiR sreRId) et 91ftp Afda o sicl &l gJufiasur
eftcmIur (bI IGTHUAT D IMIEMR UR TRIfold

D. it IV. ferae 3 onfdrer w0t D fere gofl 31 ISt DI FeAidol DI D
CatreTr fere forutirest o1 toter

il 3w o1 el 3 A At I gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-lILB-1,C-1,D-IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlbB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofi <1 eror Ru sre 3 :

werd - | : fgamenst Fizean yprredt o1 smens 2 3

@l - |l : fgsmemst eI, gorIc Siis @ Aol &l 3ldr & RIarT saa o5 former bl Az &
JURITP DYoll B 3l H, ofll [Su s1u fadmeul 3 A W8 3= @1 T=I6l HifSte ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emwt | aiiz |l Sleil A 8 [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq weret || sRicr 8 [Option ID = 14559]
4. Statement | is false but Statement |l is true/wesel | sRIcI 8 , fboq el |l 3=r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1 Siail 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI AHIET6I Dol D e v e D sfiar 31ferp A sifere seiluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 2iuur a1 [Option ID = 14561]

. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3asr 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A wWw N -

Correct Answer :-
e Vertical communication/3eafer 2iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:



forgatferRaa 3 A fopadbl usdrel aiftrs AYWUT BI9rT & HU 3 DI Sl 3

A. M@MEIDB HIHT BT AT

B. smoyfgar

C. bIsd® @ oicdl DI Yraeist

D. =i &l 9 ot

E. FdioRIca® 91t &1 GRIBT

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, B and C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/daea B, C siiz D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/aac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

@erel - | | ADID UIdI, 3D HIUT DT MER BXcdl 3

el - |l : Sr-aifRies JAd>dl & sraet e sref Jxar &
SWRIFP Pl @ 3Mrelld i, ofld 3w s1e Ripedl 3 A A8l Iar @I M6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14570]
Statement | is true but Statement Il is false/erme1 | A 8 , o @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | 3l |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AT &t YR B A8l G b usare o3 ©

A. 333 e

B. Fisirera 9jac

C. sru9ru gjacn

D. wwa ¥is gzaent

oA Ry s1e Riecdl # A & a2 goi

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]



15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(3ot 9)fdriT) (faroramd)

A. aiffdes |. Iiguor Faof

B. Fuof farsier Il. sl & dta Fguor
C. srelgza Ill. Fid>di &I e

D. Fiofers IV. sreif 2 ddfeEa

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i 3HICH Dlol-AT 3D BPI ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & uri X oI @I 3ell 3 A il & ur Alafera su A 613 Z, Y sk X @ urd a@gier: fpaol 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BICI A v AP @l [$¥rd gu @iddr of @al, ds A arar &l 9¢l @I 11 3 3 Alep A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sicfisir [Option ID = 14589]

Cousin/adRr1 a8 (pfeter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

AW N =

Correct Answer :-
e Nephew/sicftsr [Option ID = 14589]



19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | : b Bieic # el Slar a1 &l frere &I 33, de Ht g A 5° el 96 Sl 3

el - | : afd fiere sl @t &t Jgzat v & Rrerfer 3 3mE) agont 9s wcdl 3 Al el Iyt 64 Bioic @G v, g A ficith
SWRITP Dol D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@emt | 3ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@ermer | 3 @ , fboq et |l spRier & [Option ID = 14595]
4. Statement | is false but Statement |l is true/mepol | srRI=I € , fboq el || A= & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/epr | aiz |l Gleil 21 & [Option ID = 14593]

20) Consider the following statements:

A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafeRad siftmy | faar &1

A. U@ gR H 1 718 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U HIFTSd @l 20% @1 g1 W 14500 % H &4l [l &, Hislgd &l AFld Jod 18225 % &
D. e 81, g Tea &1 L8 e 28% ©

el o e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dsaet A aiiz B [Option ID = 14597]

2. Band C only/daer B siiz C [Option ID = 14598]

3. Aand C only/@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatferiRaa 3 A Pdlol-AT AD S 3 Sl aftb @ faeardl siiz ufxiFeferl @ dia JAder oI =Ib ddar

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/amefdics &s daqem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smefdica vs aifdoa (uRRerfesio) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/simejdicar s ssaiifeRial (arstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smefdics esd¥gfSeret (Yfiipr) [Option ID = 14604]

A w N -

Correct Answer :-
e Argumentum and Baculum (force)/smjdicar 6s daetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can



be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true

D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRRielt oot i Al "o e Aqacrar oifl 3 srica 3, i forFerfeRaa 3 2 fba1 @ o1 A8} Alen ST ADAr &
A. "9t G Aqern ' 3RTea &

B. "©® Wc Adcrdr & AcA 8

C. "l A6 FAcIa " Aca 3

D. "I A Hacrar oidl &' Aea &

ofia 3w a1 el 3 A A& a2 ol :

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/dact B siiz C [Option ID = 14607]
. Cand D only/d@aet C siiz D [Option ID = 14608]

A w N =

Correct Answer :-
® Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forraiferRaa wler-A1 e AdaraRT @ PR AR YBR B Jdl U A YIgd okl 3 :
it carardt sircar-farardt 8 3

sirea-frar Af3a o of cafes enffas ordl siar

sfere oFf oft enfifes cafep smurdt ol drar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - I

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
o AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

St sfogal &1 el A ucrelf @ aR 3 SRl i ol & sfogal o sif¥dea genfora fown sitar & forsot 31 3 v Gt ¢
[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]



Anumana Pramana/ sigj#tel ysmt g1 [Option ID = 14613]
Sabda pramana/erss ygmor grer [Option ID = 14614]
Arthapatti Pramana/sferfufer grr [Option ID = 14615]
Upamana Pramana/3usirer ggmor gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sfojerer gamur g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel D P31 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/ygigr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
e Perception/yeiet [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTcA3R o der i v gifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT i srggafer Sar 3

B. 3318t gderel - YRIeT 3 38 Qiojmel 3R siivst @ 1w sidf¥es Jeist (312 © war) ot 3irdco Siiz arat At 3arsAT WR 3iist &t Yol gt
q $iSRUT

C. Jarerol FHsIcTon - ufefRr 3arsAl (so1ye a 3n3eyc 3arsA) I forifeld wen a ufdir Sarsil @ fére gRITPT sgfR1ell ®I HHIcTol

D. scvole uga - $eolc U= AAi D RRI Aud ygrel wel

il fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet




Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et | e -l
(fera=zoT) (Suged awmolildl us)
A. Siagdic Jollol @ ferg ciods ferell PR acs arss |
dd UT ST SIQ -
B.Rﬁtm@@'@ﬁm@'éﬁtﬁmﬁiﬁmam"- PP
(I IR ol dIcl BRICT
C. sceolc WR giifdic wd widie dol arct FRISIST ®I
Ill. war.él.uaruet.
D. &1 AfedRR Sl YRIBIPD! Bl $colc uR Sfarygic V. < ke

Bz g1 JAIerGil Dl YaRIA/S¥ ol D A Folidl 31

il fou a1e fypeul 3 A A IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-1IL,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-1ll,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

FN¥ST BARKE @ Ted @ i Holifpda R Rasd @ waf¥ea difse:

A. dtdtd

B. f1.3L. - 3o

C.s13

il f3u a1 fraseul 9 2 W& 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A[Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

oflar S1 averet feu s1e 3 ¢



@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fik YRR AR DI Mol BT &
@l - |l : v simfesr Rizcar $edic ValA Yglol @l &

SWRIFP Pcll D 3MIelld #, ofld 3w 31w el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sraif sRicr & [Option ID = 14634]
Statement | is true but Statement Il is false/@emel | a1 @ , fpoq @eret |l sRIr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboqg et || A= & [Option ID = 14636]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?
forgatifepa 31 A Dol WY YIS, (et Yok $ecxwA) aced & Sl ag famedl 3 A v @I golol A YT o= sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/¥®fet @z [Option ID = 14637]

Push button/ger acat [Option ID = 14638]

Progress bar/q@)a1 arz [Option ID = 14639]

Radio button/3f:i scat [Option ID = 14640]

A W N -

Correct Answer :-
® Scroll bar/¥®fet @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfpUT Ysiiae! @5 BRI o1&l aXr & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demsiian [Option ID = 14642]

3. Ocular damage/aiq sifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
STl YgHl BT oot 31801 / RN
A. ABCIGIP PRD |. argsiidt sfiamg cr1 feafea o srufdre

B.sﬂmmmmﬁ".m, R errqail @ AP

Brafdrse
;_;ﬁsﬁa% 1. Sfiaroy, yshtary (Qdisien) ik scf
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddrd scnfe

ST fored RARIST bt arfer g e 3



Iaﬂﬁi%t!miﬁaa—cﬁ ﬁﬁaﬁmgﬂ%{q:

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1

[Option ID = 14645]
2. A-IL,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-UL,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1I

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu sre 3 ¢

Dol - | : afd:3a &bt spiforn fuarpar # gfy ssdiaur o1 ufyvma 3

@l - || : fRensdiavr 3 Siary oI geI B2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
SWRITP Pl @ 3MIelld 3, ofld 3w s1u Rl 3 A A8l IR I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/erer | 3iiz || Sloil 31t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Giali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | sci @ , fpog et |l 2@t & [Option ID = 14652]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz | cleif 2t & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

weTdol U TS g 3 fSrImT 3uriieT 3ruafdrse Sier A aRIr 9Ly @3l 3 v sirar 3:
A. sftfa forcifda o1R1 ucrell @I scrol 3

B. 31ig Sifadbkr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolear I serol 3

oA R s1e Riescdl # A & a2 o ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/dact A, B siiz C [Option ID = 14653]
2. B, Cand D only/@aa B, C siiz D [Option ID = 14654]
3. A, Band D only/a@aet A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C alix D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List Il




List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl, Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

ret -1 et -l
sirsilel gifsa ucref Sie

A. C3HF7 I. HCFC
B. C2FH;3Cl2 Il. 3clica
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

i) feu oru famedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B -1, C-1I, D - IV [Option ID = 14657]
2. A-1l,B-1,C-1V, D - Il [Option ID = 14658]
3. A-1I,B-1V, C-1ll, D - | [Option ID = 14659]
4. A-1V,B-1l,C-1,D - Il [Option ID = 14660]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzereil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guae [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |India/ema [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgsifeiRaa Y So1d> 3106l A BITHATGRIR afded Hifsre

A. BIcter sirRIeT

B. JscR meI

C. Frar wrlge (Rrorcar)

D. wirste Alston (Cetror)

E. gs B¥a

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

Correct Answer :-
e C,E, A B, D[Option ID = 14665]



38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forrarferRaa & A1 @l A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C iz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D iz E [Option ID = 14672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Zoa & e g5 3 ?

A. Zor 3 Ica fren 3 sigpRienel 3R stayarieil @ a@rar Sl

B. fareafdemcril f318ir @ eIl ®I WoarIal, forerfzur siiz Sxasimar

C. Tor 3 Ica fren as uga ! dGTel

D. frafdencril siiz Bicisil @ Mocloll BT [T woll

E. 3@ qen Isa IRERI SR Iaa fOren siffener el & dia dstayul ot & %y 3 Aar Ygrel a6l
ofid fou a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@ac A, B siiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>aet B, D siiz E [Option ID = 14676]

A w N =

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List I

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [Il. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:




et -l oot 3 -1l A Fgafera Hifsie :

xet -1 ot -l

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 siofRienet I aGlol

C. ICPR I, aapotichl {3181 <l SJUTaTr DI SGIaT Soll
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il f3u s1e frseul 3 ¥ A IR o ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D -1V [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 s1Q srerior @) ue 3R ofid feu s1w yesll B 3az S ¢

ARTSIP afdpR ud a3 - AR s@emrn 3 Sit Jregul Sor J fafeer wwul 3 siRdaraare snfffe, ARnkee, IEEfae ik Aroiie - Ao
ofirl & fafdeer uscrsil @1 Adate B! G RV T $AD Aca D 1T W gU; AT 9165, Iol AH! Sif fefap, ATMIPE iz AFDmitie wu A
afdvapa A3El ur &A1 DRA D 3 3l AT & A e AP WU A @Bl cllsll Bl Jorchl Rrerfer A ars? forpIcal @I BRI B! ard dg iR
&A161 DIGA D31 3 BiA D AAST MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 96 gu WU I RISl I &alol gra @2 @ 3 51
9re¢ bl Ieufe, araa i Pz awolidl acard 3R snffe gerizasi @ e 3R - NP JATS 3 AHIRID Dl D Joeld FasU DI
Qol3aeIRuII Jollel B U YARI DI Yoidfa ddl 3 3creur o fere ufker aenfie fravser & v gefisya aidl yfigam o1 sepa @2 61 8 Sil
gAfe1 3Y a1 3 Tilfs dal cid FIRT Bt RASEIS, TGl FYARTT i BBl AT A i sear & sifcifaferi urfl s & 2 Garaeu oY
el AHIRID FIPBI BT 3G 3l Wl 3 R A RI D i 3 fafdioot U 3 el S 3 "ot SienRie s, ‘syarfl’, ‘seirdl 39s’, "vba
siftrira’ affaa A oR AP AI=sH & gy D Ade I Ao afdcor 3 wRI a6 Rl 3 AT <1 Asvayel #E Feuadre kR & F gaa
TRIT AEMRYN 3 ok 9Nfdret dlar 3 Sl feadwur grRI séidl, 3RITeIdl, due scfe @ SIA 3iferd USURPId BHA® D dad oldl Yglol b= s
ADAl GIRI 3R 3ferp HAsTayvl, fb o= 31 sraerRun @I PRIl uf¥ggRn A Rt caaren (Afcer) @ sifefym fraiiya fepan sit aden ? o= a8
IR DI TR A i1 B e s A, T Wl Rafel PR agizad el &6il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 IR, 3RIATGIAL, ddol sDcl 3R HTATSl arcl a2 Fei R fdRT krauvr 3 *ue »4 A &ame $ar sk 8

The concept of social exclusion is multidimensional because of:

ATHAISID SfECDR Dl FTEMRUI b BRUI A Jg3rRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer el v dfga [Option ID = 14681]

variations in deprivations/ddon @ ¥a%u 3 fdeerar [Option ID = 14682]

the prevalent notion about social outsiders/menfSics =u 3 @g3t clsll @ ar 3 yafera sraemzon [Option ID = 14683]
social statuses across nations/2igui Ser 3 Jmnfsre Refer [Option ID = 14684]

A W N -

Correct Answer :-
e multiple groups to focus on/fafeer wel w dfga [Option ID = 14681]



2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @) ue 3 ofid f3u s1w yesll B 3az S ¢

ARSI afdepR ud a3 - ARIEH s@emrn 3 Sit Jregut Sor d fafeer wwul 3 siRdaraare snffe, ARnkee, IEfTe i Aroiae - Ao
PRI @ fafiiosr usgsil ®I e Dot Bl RV 3 3D Acd D fore el gu; A6 oI, Iol APl sl 3nfdfep, ARG iR ARGiae wua 3a
afdvapda AEl ur &A1l DIRA D 3 3l AT & Az 966 ARMISID WU A 1Bl cllvll Dl Jorchl RFrerfer A ars? orpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AAST NRRIT D cidl 3 JRT WU 3gd A6 aLrRVI il RIU 3 96 gu WU 3 RIgTsll I &ilol gra @2 3 3 53
9rec bl 3eufe, araa 3 Pz ddolidl gcard 3 snffe Yerizaei @ e 3R - ENBID JATS 3 AHIRID Dl D Joeld Fa3U DI
ol3IaeIRUII Jollol B TP YARI DI Yoidfd drdl & 3cr1eu1 o fere ufkpr Ao firavser & v geflsyd aidl Y o1 3epa 2 61 & Sil
safere A 261 8 aRiifes asi cid JarRT Bl AASEIEL, TGl AYARIT 3R BeANIGHEI IS A WS seal & sifafaffril uril s 38 3 wasaeu oY
Her ARG FIS BT IGd 3l 61 3 312 A gl D dia 3 fAfdioot u 3 ool sa 3; ‘ofa eNfD slia’, ‘sigaril’, ‘seindl J3E’, ‘T
siftrra’ affaa A oRt AN Ja=sl & gy D Ade I AP afdsor 3 wRI a6 Rl 3 AT 31 Hevayul g Feadre kR & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur grRI séidl, 3RTHIeIdl, due scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = s
ADAl GIRI 3R 31ferp HAsvayvl, fo o= 1 sraerRun @I PIdlk uf¥ggRn A famr caaven (Afcer) @ sifefym faraiiya foan st aden ? o= a8
IR DI T A 31 B aw s A, v Wl Refel PR agizad el &il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 ofidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl JHdfera el uR faerI frauur # samud wu A eart G sk &

The new reflection on social exclusion has emerged from

ARNRIE afdtpR UR oid - Ridel waf A 3cuod g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitesfias2ur yfdgenr [Option ID = 14685]

The arrival of new scholarship in sociology/3ston ¥ ol uif$eI (IpIcRim) @1 3mepiel [Option ID = 14686]
The technological impact on societies/mrsil w2 awefid gema [Option ID = 14687]

The changes in the nature of social inclusion/mfSip e @ Faeu # decra [Option ID = 14688]

A W N -

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.



3 310 srenior o ug 3z ofid 3w s18 Yol & 3az ¢ :

AP afdpR vd o3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraare snfffe, ARNRIG, IEEfae ik ARrolhe - Ao
ofiril & fafdeer uscrsil @1 A3IHate B! B RV T $AD Aca D 1T W gU; AT 916G, Iol AH! Sit fefep, AP 3R ATpiiies wu A
afdvapda APEl ur &A1l DIRA D 3 3l AT & Az 96 ATMISID WU A 13t cllvll Dl Jorchl RFrerfer A ars? orpIcral @I BRI B0l dard ¢ iR
€161 DIGA D3I 3 BiA D AAST AMRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 966 gu WU 3 RISl I &alol gra @2 & 3 53
9166 I Ieufel, ar<d I JIRT dAdoiidl docid 3R 3> Yorizel @ el IR - IMENRID AATST d ATMRID DIl D Seekd FasU DI
Yol3IaeIRuIl dollol @ U YATRA Dl Yghdia oxdl T 3creur o fere uftier amenfore foravse 61 ves aetiye sl gfdgan o siopa @2 261 3 it
safere A 261 3 aRIifes asi cid JIRT B AASEIE, TGl AYARIT 3R BcANIGHE] AT A WS seal & sifafaftril urll s 38 3 waraeu oY
eI ARNRIB YS! BT 35d 3l W 3 3R I Rl @ dfa 3 fafdost u 3 siet Sid 3; ot siienfere si¥la’, ‘srgarRil’, ‘gfeirdlr A3s’, 'vwa
siffrra’ affaa A oRil Ao AaF=sH & gy D Ade A Ao afdsor 3 wRI a6 Rl 3 AT 31 Hevayul e Feadre R & F gaa
TRIT AEMRYN 3 ok 9Nfdret dar 3 Sl freaduur gRI sidl, 3RTIeIdl, dae scfe @ S 3if2rd USURPId BHA® D dad oldl Ygiol = s
ADAl GIRI 3R 31f¥rp HAsTayvl, fo o= 1 sraemzun @I FRIdlkr uf¥ggRn A faorT caaren (Afcer) @ sifefym faraiiya fooan st aden ? o= a8
IR DI AW A 31 DI dw S A, T WAl Refel PR 9giad el &6il 31 A v Wil Rreafer RR1 ag3iIe oiel oRid 8l ? Iute 34
3 oidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl Hdfera el uR faerI frayur # carud wu A eurer G sk &

The post-industrial society and economic restructuring have contributed for
IR - 3iiEnre A iR 3nfies Yorien o fipard fore Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mimfSie wdbiaur & aférd wishferif [Option ID = 14690]
Fragmentation of welfare state/@camwert 3= @I ffaema [Option ID = 14691]

Social disintegration into new deprived groups/sra dferd 9gl 3 AEnfe fdravser [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 31U srEni9r @I U iR ofid f$u 3w Yol & 3= ¢ ¢

ATHISID SfECPR U &g - IR 3aemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret e, APIRIE, ASEiiae iR ARG - AP
D3RIl @ faffioot uscysil dI AdIfase DIl DI TRV & $AD Acd D fe1e el §U; A 9056, Iol APl il Mffp, AHIRIPG 3R ARFDITD WU A
afdcma APl UR eArel DiGA DI 3 3R AT & Az 9166 AAIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI B2l ard ddq U
€110 DiGA DA 3 BiA D TSl IR D Rl H PRI U Igd A8 JALIRUN Ul R i a6d gu U d RIsrell @1 &aret Y &2 3 & 39
9rec bl Ieufer, araa I Pz dwolidl gcard 3R snffc gerizaei @ e 3R - NP A d AHIRID Dl D Joeld FasU DI
Yol3[AENRUII Sollol @ U YRR Dl Yaidia oxdl 3 3crsur @ fere ulkme Amenfore ffravse & wos welise sicll gfigam o 3o @2 6T 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANIPEI I A WS seol &I sifcfaf?ril urfl s 28 & warasu o=t
el ATHIRID BT BT 3G 3l W 3 R A 2RI D i 3 fafdioot U 3 el S 3 "ot Siienfre s, ‘sigarfl’, ‘sfeirdl J9E’, "voa
siftrra’ affaw A oR AP A= o gy D Ade I AP afdsor 3 BRI a6 Rl 3 A6t 31 AeTayul g Feuare kR & F geaa
TRIT ARV 3 oRIT 9Nf3ret il 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA eI URURPIA BAAMD I dad ofdl Yglol fabam i
ADAl GIRI 3R 3ferp AsTayvl, b o= 321 sr@erRvn @I PRIk uf¥ggRn A f[ert caaven (Afder) @ sty fraiiya fepan st aden ? o= a8
IR Bl A A <31 Gt G- S ADden, v Wl Rafer Rrml agizre et acft 3 3 v ¥l Rafer Rril agizsae et si¥lq &l ? Fuse U
3 SRNdl, 3RIATGIAL, ddol serl 3R rIATl ardl Hdf2ia Fei uR fprRT firauvr 3 *mue »u A &« $ar sk 3

The scholarship on social exclusion has gone beyond
ARRID df3cPR UifseI (FPIcROMT) $3AD U2 ST Ibl 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]



The reach of governments/3r®RI &t uga [Option ID = 14693]

The conventional thinking/uusera 2ira [Option ID = 14694]

The normal issues of deprivation/ddon @ et #g [Option ID = 14695]
Common perspectives of inclusion/w@mdsret & mwie ufsggn [Option ID = 14696]

A WN -

Correct Answer :-
® The reach of governments/ar®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& 31C srenior o UG 3z ofid 3w s18 Yol & 3az ¢ :

ARTSIP afdpR vd a3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraaret snfffe, ARNRG, IEEifae ik ARrolie - Ao
ofdril & fafdreer uscysil ol AHase Dol Bl RV F $AD Aca D 1w Wl gu; As 9reg, Iol APl Sl nfefa, A iz FiTpios wu A
afdvapda APl ur &A1l DIRA D 3 3l AT & Az 96 AP WU A B3l cllvll Bl Jorchl RFrerfer A ars? forpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AT MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil R 3 96 gu WU 3 RISl @1 &ialol gra @2 3 3 53
9166 I Ieufel, ar<d I JIRT dAdoiihl docid 3R 3> Yorizel @ el IR - MENBRD AATST d AMRID DIl D Seekd FaBU DI
Yol3IaeRuIl dollel @ U JRIRI ®l Yofdfa wll 3 3creeur @ fere ulkpen wmenfore favsa &t v woflyya aXedl gfiprn o1 siopsia @2 a1 3 Sit
safere A1 261 3 aRiifes asi cid JrRT Bl AASEIEL, TGl AYARIT iR BcANIBGHEI IS A WS seol &I sifafaffril urll s 38 3 wasaeu okt
eI ARNRIB APS! BT 35d Al W 3 3R I Rl @ o 3 faffiost u 3 siet s 3; 'ora siienfere sifla’, ‘srgarRil’, ‘gfeidl A3s’, "vwa
siffrra’ affaa A oRil Ao AaFsH & gy D Ade I Ao afdsor 3 WRI a6 Rl 3 AT 31 Aevayul g Feadre R & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur gRI séidl, 3RTHIeIdl, dae scafe @ SIA 3if2rd USURPId BHA® D dad oldl Yglol s s
ADAl GIRI 3R 31ferp AsTayvl, fo o= 1 sraerzun @I FIdir uf¥ggRn A Rt caaren (Afcer) @ siferfym faraiiya foan st aden ? a=r a8
IR DI AW A ST DI dE S A, T WAl Refel PRI 953 el &6il 31 A v Wil Rrerfer PRI ag3iIe oiel oRid 8l ? Iute 34
3 ofidll, 3RIHATGIAl, ddel abGRY 3R grararsil arcl JHdfera el uR faerI frayur # camud wu A eart G sk &

The concept of social exclusion is now
ARG ai3sbrR & ST SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdRI cisll W D farr (fter) [Option ID = 14697]

2. An issue of developmental capability/fd@ricaes 2meret o1 gz [Option ID = 14698]

3. A commodity for export from the North to the South/3m= 3 gfér &t @w foria @ e azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2pil sitemt 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 ®fga fawrr (eftsr) [Option ID = 14697]

Topic:- FolkLit_A

1) According to Ben Amos, the cultural modes of communication as a system that constitutes a grammar of folklore is
revealed through the study of:

ol GHIA @ 3HoAR UD YUIlcil @ WU 3 AYUUI Bl Airpicaem 3ifd Sif fo dioAiisca @ aravr ol fomivr o il &, a6 ard b siearIet & GRI
Juee Bidl 3 -

[Question ID = 5266][Question Description = S2_qSNz_PG_FLT_QO01]

Folk Art/eltes @en [Option ID = 21061]

Tangible Heritage/d#dd eRigz [Option ID = 21062]
Ethnic Genre/gacdkr dicft [Option ID = 21063]
Cultural Heritage /@i Risz [Option ID = 21064]

A W N -

Correct Answer :-



e Folk Art/clias @err [Option ID = 21061]

2) Folklore is "the learning of the people”, is the definition given by:

clipardt "eliell oI f2PE” 3 - U ufsurd & 318 8 sod gRI -

[Question ID = 5267][Question Description = S2_qSNz_PG_FLT_QO02]
1. James Frazer/3w ws1z[Option ID = 21065]

2. Sophia Burne/3iiftsenr @sf [Option ID = 21066]

3. Maria Leach/#fsn efter [Option ID = 21067]

4. L. H. Morgan/uel va difveret [Option ID = 21068]

Correct Answer :-

e James Frazer/swat waz[Option ID = 21065]

3) Folklore can be defined as the "collective objectifications of basic emotions, such as awe, fear, hatred, reverence and
desire, on the part of the social group”; who stated this?

cliodrdl @l 31 ¥4 3 uliitia o S Al 3 i U AR g oI 3R A IorRIEt sraesii 5 o ffRIRI, 9RI, gum, 9fgT 3iiR Pl BT
AHBD arqdYI &' - ool war ?

[Question ID = 5268][Question Description = S2_qSNz_PG_FLT_QO03]
1. Archer Taylor/srdz ecr [Option ID = 21069]

2. Francis Gummere/wiRr=1 spR [Option ID = 21070]

3. Levi-Bruhl/axdt get [Option ID = 21071]

4. Joseph Rysan/SRw rriet [Option ID = 21072]

Correct Answer :-

e Archer Taylor/srfz &= [Option ID = 21069]

4) The idea of "Tradition", refers to folklore in relation to the thoughts and beliefs in terms of relative time depth, is
implied by the theories of :

cliparal @ dder 3 PR iR faeardl &I Jidmcusn 3 uruR &I s@arvn forafeRaa 3 A b RBigia A seetar A 51 3 ?

[Question ID = 5269][Question Description = S2_qSNz_PG_FLT_Q04]
1. Contextual Theories/zisfifa Rrgia [Option ID = 21073]

2. Evolution Theories/qufd®rRI @1 Bigia [Option ID = 21074]

3. Performance Theories/ygofer @1 RBrgiaa [Option ID = 21075]

4. Structured Theories/3fa Brgia [Option ID = 21076]

Correct Answer :-

e Contextual Theories/3isfsfa RBrgia [Option ID = 21073]

5) In folkloristics, who brought out the significance of dialects in order to know what language is, and viewed that it alone
can represent the real natural life of the language?

clioardl @ 31eRIol 3, As Silolol @ fere o as Plel 2l sirr 3, W S¥a1 oRN b a6 srdedl & st @ arR«afd® yrapfae siider @1 yfeafoifeea o2
Il 3 T Ade A difeRIl D IAeTa DI ARSI el arel A

[Question ID = 5270][Question Description = S2_qSNz_PG_FLT_QO05]
Wilhelm Mannhardt/faega asterse [Option ID = 21077]

Vladimir Propp/eenfesfiz gfa [Option ID = 21078]

Claude Levi-Strauss/arciis crdt-3¢far [Option ID = 21079]

Max Muller/dia=mgerz [Option ID = 21080]

AW N =

Correct Answer :-
e Wilhelm Mannhardt/ficga ssterse [Option ID = 21077]

6) In folkloristics, the concept of 'folk’ in the stage of 'civilization' is associated with:

ADIHERRIGT A, "ARIAT D <RI A 'clid’ Bl aeRun 33 Hdlerd 3 -

[Question ID = 5271][Question Description = S2_qSNz_PG_FLT_QO06]
Mercenary/srsicft (Mercenary) [Option ID = 21081]

Peasantry/fsamsft [Option ID = 21082]

Savagery/qorier (Savagery) [Option ID = 21083]

Literary/nfdfeers [Option ID = 21084]

A W N -

Correct Answer :-
® Mercenary/smsidft (Mercenary) [Option ID = 21081]

7) The American Evolutionary School, which added Enlightenment as the fourth stage of development, was propagated by:



1A frpRIardt Fmel, BSrtol yditiol @l famrT @ adgel arur @ wu 3 Aldafera fooan, 33 yaif¥a o are 9 -

[Question ID = 5272][Question Description = S2_qSNz_PG_FLT_QO07]
1. John Wesley Powell/Siier d<fl dider [Option ID = 21085]

2. Henry Rowe Schoolcraft/gert Ja ¥qeramue [Option ID = 21086]

3. Willlaim Wells Newell/faférrr act arder [Option ID = 21087]

4. Franz Boas/wjst diamet [Option ID = 21088]

Correct Answer :-
® John Wesley Powell/siior acft dider [Option ID = 21085]

8) "The Popular Religion and Folklore of Northern India” is authored by:

"elIBiRI ent 3R 3R MIRA &I il aral” @& crad B -

[Question ID = 5273][Question Description = S2_qSNz_PG_FLT_QO08]
1. David Kinsely/3frs fisoere [Option ID = 21089]

2. William Crooke/fafermr @, a[Option ID = 21090]

3. Charles E. Grover/aret $. sz [Option ID = 21091]

4. Edgar Thurston/ussR erfcar [Option ID = 21092]

Correct Answer :-
e David Kinsely/3sfas fssaet [Option ID = 21089]

9) "Myth is a part of the religious system and expresses in words what ritual expresses in actions”, is the view of:

"frerd enf3fs RAaTT DI 30T 3 AAT ISoTd ORI Rl GRI IR Bl 8, A IA IGI GRI Yibe Bl & - [pa! KR 8 ?

[Question ID = 5274][Question Description = S2_qSNz_PG_FLT_Q09]
1. Claude Levi-Strauss/drcifs ardi->¢iar [Option ID = 21093]

2. Mircea Eliade/aR3fr wieres [Option ID = 21094]

3. Carl Jung/@ret st [Option ID = 21095]

4. Emile Durkheim/ufdrecft gafsar [Option ID = 21096]

Correct Answer :-
e C(laude Levi-Strauss/dciis adi-3¢far [Option ID = 21093]

10) According to Dundes, folklorists generally classify narratives involving fairies as:
S3A D APRIR, RIAR UR i 3MeRIT UfRIl A SIS IRKTGI bl 33 U i aoffepzur B2 3 -

[Question ID = 5275][Question Description = S2_qSNz_PG_FLT_Q10]
. Legends/cawmen [Option ID = 21097]

. Memorates/zgferasen [Option ID = 21098]

. Fables/dtaifores aserm [Option ID = 21099]

. Formula tales/3pg @ert [Option ID = 21100]

A WN -

Correct Answer :-
® | egends/gawmen [Option ID = 21097]
11) Narratives that concentrate on representative incidents regarding named individuals or groups, is the definition of the

verbal genre:
q 3ReAret St 3fealRaa cafep=l sierar Aggel & Aden 3 gferforfer aconsii uz dfoga Al 3, a6 v #AifRac il Ht ufssimen 3 ?

[Question ID = 5276][Question Description = S2_qSNz_PG_FLT_Q11]
. Tall tale/eift wem [Option ID = 21101]

. Exemplum/ewcia aen [Option ID = 21102]

. Anecdote/3urcet [Option ID = 21103]

. Tell tale/men @werer [Option ID = 21104]

A W N -

Correct Answer :-
o Tall tale/cidt @err [Option ID = 21101]

12) A group of poems, stories or plays, which are united by a central theme, is called as:
ofaarsil, waiforil serdr slicd] oI Tdb AYE Sil U DRI frwrRr A e 3lar 3, sl Sirdr & -

[Question ID = 5277][Question Description = S2_qSNz_PG_FLT_Q12]
1. Couplet/grer [Option ID = 21105]

2. Cycle/aa [Option ID = 21106]

3. Corpus/sjer 3isfs [Option ID = 21107]

4. Genre/dett [Option ID = 21108]

Correct Answer :-

e Couplet/zrer [Option ID = 21105]

13) Identify the genre that has defined indexing where the texts are too variable to study, using the Historic-Geographic
Method.



3 9icht &bl uzarel HifSie RrRIel Feliagdar @1 ast ufksnftia e 3, Sief VIR sisnfers gunell & YileT $RI usdl 3q ure dgd uf¥adorofict 3

[Question ID = 5278][Question Description = S2_qSNz_PG_FLT_Q13]
1. Riddle/uzch [Option ID = 21109]

2. Folktale/clrwa@en [Option ID = 21110]

3. Legend/cawen [Option ID = 21111]

4. Proverb/dmifes [Option ID = 21112]

Correct Answer :-

o Riddle/uch [Option ID = 21109]

14) ldentify the scholars who were prominent in the development of the global comparative approach in the study of
culture.

301 fargrell &l usarel HIfSIE Sl ATFGier @ srerIol 3 APad delolicd® ftedivl @ @Rt 3 sEpufl o -

[Question ID = 5279][Question Description = S2_qSNz_PG_FLT_Q14]
1. E. B. Taylor and J. G. Frazer/s.dl. cr 3z 3.5t gsr[Option ID = 21115]

2. Eleanor Long and Henry Glassie/ufefsiz efist 3iiz 3ot sei=ft [Option ID = 21116]

3. Franz Boas and Roger Abrahams/wist dlsiet 3iiz 36K agreat [Option ID = 21113]

4. Archer Taylor and Richard Dorson/sirdz 2eR siiz f¥as sizziar [Option ID = 21114]

Correct Answer :-
e Franz Boas and Roger Abrahams/wist dlisiRt aiiR ek sse [Option ID = 21113]

15) Tylor states that the primitive religion was rational in its own way and was present in the form of:
2R A8 Dad 8 [ snfdmieilol &3t sruol @s1 A Ayt o ik 531 Wy A SufFerd e -
[Question ID = 5280][Question Description = S2_qSNz_PG_FLT_Q15]

Shamanism/gmorarg [Option ID = 21117]
Totemism/@Rarars [Option ID = 21118]
Polytheism/agdaars [Option ID = 21119]
Animism/Sftaars [Option ID = 21120]

A WN -

Correct Answer :-
e Shamanism/gm@orarg [Option ID = 21117]

16) The form of the substance of myths, according to the theory of solar mythology, rests on:
IR Rrerpfden @ Rigia @ sielRAR el @ ded oI Fa3U $AUR 3[dcifdd 3 -

[Question ID = 5281][Question Description = S2_qSNz_PG_FLT_Q16]
1. Nouns/3ism [Option ID = 21121]

2. Verbs/Rpams [Option ID = 21122]

3. Appellatives/suferarae s [Option ID = 21123]

4. Orthonym/siteifforer [Option ID = 21124]

Correct Answer :-

e Nouns/zi=smd [Option ID = 21121]

17) Concomitant to Max Muller's Solar Mythology, the theory that was developed was:
FAarerR Bl AR Rrerofeen @ A3l sit Rigia fawRa g3m, as e -

[Question ID = 5282][Question Description = S2_qSNz_PG_FLT_Q17]
1. Myth-ritual/frems- srapeotet [Option ID = 21125]

2. Totemism/clesrarg [Option ID = 21126]

3. Noble Savage/sifdrsira aser [Option ID = 21127]

4. Barbarism/aszar [Option ID = 21128]

Correct Answer :-
e Myth-ritual/frems-3epatel [Option ID = 21125]

18) For Giambattista Vico, the "mental language" of myths manifests itself as man's universal capacity to understand:

Bruraftirar fam! @ ferg, el d "AGIRIG 1" Fa=i @1, el A Ao H ArdHIBe grErdar o ywe oxdl 3 -

[Question ID = 5283][Question Description = S2_qSNz_PG_FLT_Q18]
1. Poetic wisdom of the primitives/sufe#i @1 @it fda [Option ID = 21129]

2. Civil histories of the first peoples/ygmt Sioit @1 omeIf¥es sferart [Option ID = 21130]
3. Creativity of the primitives/anfeail & Faemcaaar [Option ID = 21131]

4. Civil laws of the first peoples/yersisil & aeIfsd wiget [Option ID = 21132]

Correct Answer :-
® Poetic wisdom of the primitives/sufeal @1 @re fda [Option ID = 21129]



19) Saussure's concept of 'Parole’ is related to the study of:
AR DI "gfergfer’ &l sraemeun s Adfia 3 -

[Question ID = 5284][Question Description = S2_qSNz_PG_FLT_Q19]
1. Syntax/arq=ifdeemr [Option ID = 21133]

2. Diachronic/orer@fi®m [Option ID = 21134]

3. Synchronic/wwiferes [Option ID = 21135]

4. Dialectics/ggreaas [Option ID = 21136]

Correct Answer :-
e Syntax/arafde=mt [Option ID = 21133]

20) Emile Durkheim argues that the basic function of social systems rests on the principle of:

ofdrelt cxfsa aw 3a 3 b J3rer crazen o1 gornd ori sad Rigid u? siacifaa 3 -

[Question ID = 5285][Question Description = S2_qSNz_PG_FLT_Q20]
Social Solidarity/3enfSi wasar [Option ID = 21137]

. Social Contract/zmufSre ifder [Option ID = 21138]

Self preservation of basic needs/gforIc! smagrmarsii @t smwer-uf¥emr [Option ID = 21139]
Self satisfaction of basic needs/gfornct smagramsi & snea-2igfie [Option ID = 21140]

A W N -

Correct Answer :-

® Social Solidarity/3menfSie wasar [Option ID = 21137]

21) Psychoanalysis has produced much evidence to show that all our ideas, feelings, interests and beliefs originate in the:
IS HUT of 33 dId & Ul YAT Ydd e 3 5 saR far, siraend, sifisRRIf ik frart s3@ 3cusot 31 & -

[Question ID = 5286][Question Description = S2_qSNz_PG_FLT_Q21]
1. Sub-conscious/sm@aden [Option ID = 21141]

2. Pre-conscious/gdadet [Option ID = 21142]

3. Conscious/ddsn [Option ID = 21143]

4. Unconscious/smdet [Option ID = 21144]

Correct Answer :-

® Sub-conscious/smddet [Option ID = 21141]

22) "The presentation of self in everyday life", which emphasised on the analysis of everyday events, is written by:
"'g Yoloc 9ol 3B AW 3ol Tasls as® Sforam acollsil @ feaduvr uz Sz Sar & O forar 2 -

[Question ID = 5287][Question Description = S2_qSNz_PG_FLT_Q22]
1. Jack Goody/Si@ st [Option ID = 21145]

2. Erving Goffman/sfder sifwater [Option ID = 21146]

3. Max Gluckman /3@ sciadsior [Option ID = 21147]

4. Clifford Geertz/f¥erws Brcst [Option ID = 21148]

Correct Answer :-

e Jack Goody/Stes s5st [Option ID = 21145]

23) The method, that typically adds a record of subjective explanations and meanings provided by the people engaged in
the behaviours, is known as:

ag YuIIcl Sl RIcGR 3 Hcreol clisll BRI Yofdfa farerr saresmsit sii= srerf o1 gfersu sifticiza Sorarctt fafér 3 sam) @ar sirr 3 -

[Question ID = 5288][Question Description = S2_qSNz_PG_FLT_Q23]
1. Ethnology/grenfe farsirer [Option ID = 21149]

2. Emic description/=mazenmuza fdrazur [Option ID = 21150]

3. Thick description/3wrmer fazor [Option ID = 21151]

4. Participant Observation/smsfterRi @1 smciiapat [Option ID = 21152]

Correct Answer :-

e Ethnology/gpsnfer fasmer [Option ID = 21149]

24) Who objected the marginalisation of performance and proposed the notion of communicative competence, necessary to
use language in social context as an object of linguistic inquiry?

fep210l ygolol @ sfdrRma2u1 1 feRYer v iR ARSI e 3 s & gRIeT 3 siffrcaftpoficr gpIar & emeun @I 4N PP Siia-usad D 34 A
gaife e, a6 9 -

[Question ID = 5289][Question Description = S2_qSNz_PG_FLT_Q24]
Richard Bouman/f¥as a3t [Option ID = 21153]

Erving Goffman/w=fder sifwater [Option ID = 21154]

Richard Hoggart/fsas gferd [Option ID = 21155]

Dell Hymes/3e arsa1 [Option ID = 21156]

A WN -

Correct Answer :-
e Richard Bouman/f¥as ars#er [Option ID = 21153]



25) According to Claude Bremond, the reason for the subject of a story to serve as a theme for a ballad, an epic or a myth
leads to the formation of 'Version' and 'Variation' is:

Teiis IS D MeRIR, dIclis @ [ @ U I daloll D DAGID DI IR & b U AsImIrR e Sl f[ipedil 'uiarur A1 'sfearur’ 3 Juidafea
B 3, a8 8 -

[Question ID = 5290][Question Description = S2_qSNz_PG_FLT_Q25]

. Interchangeability of interdependent texture/uwsuz fonfz iden &t swafdferrir [Option ID = 21157]
. Transposability of autonomous structure/zarra Jizden &t faueferar [Option ID = 21158]

. Performer’s ability/werer &t gerr [Option ID = 21159]

. Textured discourse/?ixen fawrel [Option ID = 21160]

A w N =

Correct Answer :-
e |Interchangeability of interdependent texture/uzsuz fonfz o &t swafdferriar [Option ID = 21157]

26) "Second-hand mediation and presentation of folk culture” is defined as folklorism by:
"ADs T3 HfSuoret Us Yolocordl i BId deaR” D dldbdrdidic @ 34U 3 Soid GRI ufsnitid fasar srem 8 -

[Question ID = 5291][Question Description = S2_qSNz_PG_FLT_Q26]
Linda Dégh/fist 3a [Option ID = 21161]

Felix Oinas/wfera1 siigert [Option ID = 21162]

Hermann Bausinger/a#or dif3iere [Option ID = 21163]

Hans Moser /& aitsr [Option ID = 21164]

AW N =

Correct Answer :-
e Linda Dégh/feist a [Option ID = 21161]

27) Folklorism is viewed as a "process of adaptation, reproduction and transformation of folklore" by:
clipardidrg ! diddidal @ 3ieldeiol Bl g YoRecUrcol 3R FUIARUI @ U 3 $oId LRI 31 9RI & -

[Question ID = 5292][Question Description = S2_qSNz_PG_FLT_Q27]
. Russian folklorists/3f clicaraier [Option ID = 21165]

. German folklorists/smfer cliasarafer [Option ID = 21166]

. American folklorists/3@i¥d! cllparaier [Option ID = 21167]

. Finnish folklorists/fbfcorer cliesarafere [Option ID = 21168]

A W N -

Correct Answer :-
® Russian folklorists/%2ft cliwarafer [Option ID = 21165]

28) When new folklorism studies got impetus, the term ‘folk creativity' was favoured by:
S o€ clliddIdldlic @ 316l DI YIcATol f3ell dd ‘el FollcADAl 916G DI 3MoJdIGo! Sold FRI &I sRIT -

[Question ID = 5293][Question Description = S2_qSNz_PG_FLT_Q28]
. American folklorists/smif¥d! cllwarafer [Option ID = 21169]

. Russian and Soviet folklorists/z=f sfiz 3MfeRa eltaaraier [Option ID = 21170]

. French folklorists/wizfieft clfasarafer [Option ID = 21171]

. Danish folklorists/3fetar eliwariar [Option ID = 21172]

A wWw N -

Correct Answer :-

o American folklorists/sm@if¥dbt eiaarafarz [Option ID = 21169]

29) Using folklore by folklorists' methods, investigative techniques and skills as a personal resource to alter social, cultural
and economic condition, can be termed as:

clipardifact grI dieardt bt ugferit grier 3 o st 3 a siepRiaca®, awolie iR GBI ®I RfBoId JPd D U i A[IRIE, ARRDios i
anffes RFeferil @ iz uz gRier & sl 8, ag 3 -

[Question ID = 5294][Question Description = S2_qSNz_PG_FLT_Q29]
. Folklorism/eliearafarg [Option ID = 21173]

. Folk creativity/clie Jaencarapar [Option ID = 21174]

. Applied folklore/sreygep ciieardt [Option ID = 21175]

. Public folklore /st clicaraf [Option ID = 21176]

A W N -

Correct Answer :-
e Folklorism/eli@arafars [Option ID = 21173]

30) The term 'Glocalisation’, coined by Roland Robertson, is influenced by a concept from :

Acis Hael SRT IR SRII 9166 ‘SclldballssIoNed b3 sruenzum A yerfad 3 ?

[Question ID = 5295][Question Description = S2_qSNz_PG_FLT_Q30]
Chinese/disft [Option ID = 21177]

Japanese/smurmeit [Option ID = 21178]

Vietnamese/frIdemsft [Option ID = 21179]

Indians/emcitr [Option ID = 21180]

AW N =

Correct Answer :-



® Chinese/<fsft [Option ID = 21177]
31) Cultural Creolization model of the global ecumene was formed by:
g Adiisrar o1 ARDire Rpsiicliavr gfeeer or forefur sord GRI i srim e

[Question ID = 5296][Question Description = S2_qSNz_PG_FLT_Q31]
1. Mikhail Bakhtin/frde afsdor [Option ID = 21181]

2. Ronald Robertson/3eiics Jacter [Option ID = 21182]

3. Ulf Hannerz/3ew gotarst [Option ID = 21183]

4. Arjun Appadurai/smjel srurgsist [Option ID = 21184]

Correct Answer :-
e Mikhail Bakhtin/frdet aRcaer [Option ID = 21181]

32) According to Jan Nederveen Pieterse, through the processes of cultural mixing, we are witnessing the formation of:

il olexdiol Uled @ 3IGIRIR ARDIID et Silct A dH 3 AdIG0l DI YGIUT (ATSICDR) DT 3

[Question ID = 5297][Question Description = S2_qSNz_PG_FLT_Q32]
1. Global homogeneous culture/dffas swrsu 3zl [Option ID = 21185]

2. Cultural metabolism/ziza e 3urrrr [Option ID = 21186]

3. Glocalisation/shwenssiont [Option ID = 21187]

4. Global melange culture/dfae fdargpr 3zapfer [Option ID = 21188]

Correct Answer :-

e Global homogeneous culture/df%qe® wreu 3zt [Option ID = 21185]

33) 'The globalisation of the western market economy has led to the commodification of folklore for mass consumption’, is a
view expressed by:

Uil aeIR &l srefraven @ dediapv1 of SiefsIdl Bl SIelRIHE D IUHIPT D 1T Slorardl @I gl a2 A1 3 a6 AR foad gRI wrep &t
SRMt 3 :

[Question ID = 5298][Question Description = S2_qSNz_PG_FLT_Q33]

1. Roger Abrahams/3sr sgras=t [Option ID = 21189]

2. Richard Dorson/f¥sis Siaar [Option ID = 21190]

3. Alan Dundes/uciat s [Option ID = 21191]
4. Barre Toelken/arz derdder [Option ID = 21192]

Correct Answer :-

® Roger Abrahams/3sR sgree1 [Option ID = 21189]

34) A one-act play that has its roots in the rural Assam, which is written in Brajavali, a unique Assamese-Maithili mixed
language, is:

U UDh-HDRI-6llcd RRIBGT 515 ST AT A 3 3i1R 36Te RIIRI-IAfrctt fBifdfa simor 3 ferxdt s1$ s 8 :
[Question ID = 5299][Question Description = S2_qSNz_PG_FLT_Q34]

. Bhari Gan/s3 smet [Option ID = 21193]

. Bihu/dfiz [Option ID = 21194]

. Ankiya Naat/sicbrr siie [Option ID = 21195]
. Bagurumba/aspsar [Option ID = 21196]

A W N -

Correct Answer :-

e Bhari Gan/sit smet [Option ID = 21193]

35) The folk theatre of the south India, having live dances and songs, wearing wide colourful costumes, sparkling shoulder
plates and elaborate head dresses, is named as:

Sf310T $1RA DT a8 il ollcd SR 39T fR3I UI9ND THDd BE UfEdI Ud a<) IRAD UIIID Usold & Pl sl SIidl & -

[Question ID = 5300][Question Description = S2_qSNz_PG_FLT_Q35]
. Kaavadi attam/ararst srgar [Option ID = 21197]

. Karakatam/orropres [Option ID = 21198]

. Therukoothu/férsagr [Option ID = 21199]

. Kummi/@asft [Option ID = 21200]

A wWw N =

Correct Answer :-
e Kaavadi attam/rarst srgar [Option ID = 21197]

36) Contextualisation, Interpretation and Understanding Perspective is the purpose of a kind of research known as:

Jiceur, fordee 3iiR 2ice DI HIEI6l Ud 9itel BRI BT 3T & ORI Sirel SIrer 3 :



[Question ID = 5301][Question Description = S2_qSNz_PG_FLT_Q36]
1. Quantitative/uf¥smumcas [Option ID = 21201]

2. Ex post facto/®ri= [Option ID = 21202]

3. Empirical/smopafde [Option ID = 21203]

4. Qualitative /s [Option ID = 21204]

Correct Answer :-

e Quantitative/uf¥amnea [Option ID = 21201]

37) In Ethnographic research, the field work protocol requires that participants must be fully knowledgeable of how the
data will be used, this is known as:

SFSIreilr auiet oNerpRl & Sifir BRI & sarar 3 (3e1) 3Midst o1 YRieT 5 yor fasar sie st guf et 3 :
[Question ID = 5302][Question Description = S2_qSNz_PG_FLT_Q37]

Informant Consent /3@ st [Option ID = 21205]
Copyright/zacarférsrz [Option ID = 21206]

Data Accession/sifast uf¥sgur [Option ID = 21207]
Data Acquisition/sif@st swfer [Option ID = 21208]

A w N =

Correct Answer :-
e Informant Consent/3@a safel [Option ID = 21205]

38) Rich details of cultural scenes constructed as a method of writing culture is developed by:

ARDITD €9l P g I Sl cidol Jrapfd @ gunedl @ vu 3 foifdfa gf off ol frelRia oo e -

[Question ID = 5303][Question Description = S2_qSNz_PG_FLT_Q38]
1. Clifford Geertz/fpcws sficat [Option ID = 21209]

2. Atkinson P/ucfborior Wt [Option ID = 21210]

3. Kenneth Goldstein/@ferer siteseat [Option ID = 21211]

4. Barre Toelken/d3 Aerader [Option ID = 21212]

Correct Answer :-

e (lifford Geertz/fsews sficst [Option ID = 21209]

39) One of the major ontological influences on the ethnography tradition of inquiry, through the use of personal interaction
combined with statistical data, is from the:

JAiRARPIG MBS A IYh Rftbord URFUl e Yoira o A A ofsicilavicl & Sifa-usdre bl UuRI UR AR B YHIT JIRAT: 3R] 3 ¢
[Question ID = 5304][Question Description = S2_qSNz_PG_FLT_Q39]

American School of Anthropology/smifseet ¥ sifts weegjurerstt [Option ID = 21213]
Chicago School of Sociology/ el Faxt sifw Afdrilciisft [Option ID = 21214]
American Folklife Centre/sm@if¥aor wiwesw Ao [Option ID = 21215]

British School of Anthropology/fgfeer @t sifw veejuretsit [Option ID = 21216]

A w N -

Correct Answer :-

e American School of Anthropology/smif¥@er ¥t sife veeuretsit [Option ID = 21213]

40) If the population from which a sample is to be drawn does not constitute a homogeneous group, then the technique
applied is:

i yfereol SierRizsn o 3 g A R SIRI Sl AABU o8] 8, A YIb Adoild DI Pal Sl 3.

[Question ID = 5305][Question Description = S2_qSNz_PG_FLT_Q40]

1. Deliberate Sampling/3iefeua yfergef [Option ID = 21217]

2. Systematic Sampling/=maf¥er yfeigef [Option ID = 21218]

3. Random Sampling/=refes® yfersef [Option ID = 21219]
4. Stratified Sampling/zafsa yfersel [Option ID = 21220]

Correct Answer :-
e Deliberate Sampling/zi@feua yfergef [Option ID = 21217]

41) In 1960s Lauri Honko developed research methods in the field of folk-narrative which brought about a shift in Finnish
folkloristics to:

A. Synchronic Approach
B. Geographical-Historical Orientation
C. Diachronic Approach

D. Functionalist Orientation



Choose the most appropriate answer from the options given below:

adf 1960 3 ISt 3ipI of el - BeUsl D &I 3 U e fafer o1 frpRia e RrR fsforer diwaral & 3 uf¥acior smem
A. umomIfers zftcmior

B. silonfers - YfeIRie effcmiur

C. Do eftemior

D. yoriart zfRewlur

ofid fou a1 el 3 A 8t ST gl :

[Question ID = 5306][Question Description = S2_qSNz_PG_FLT_Q41]

B and C only/d3qet B siiz C [Option ID = 21221]
C and D only/@aet C siiz D [Option ID = 21222]
A and D only/d@act A siiz D [Option ID = 21223]
. A and B only/daet A siiz B [Option ID = 21224]

A w N =

Correct Answer :-
e B and C only/aqe B siiz C [Option ID = 21221]

42) Van Gennep emphasised that the phenomenon of culture should be examined based on:
A. Natural Environment

B. Theatrical Paradigm

C. Phenomenon of Biological Sciences

D. Phenomenon of Physical Sciences

Choose the most appropriate answer from the options given below:

dicl 3Y0IU & 3fofAR Al bl sraemon oI faeme _____ u? smenf¥a slen aifde
A. yrofie gafazur

B. oiredbl urifarur

C. Sfia Rrsirer &1 Jidpeus

D. omdif¥e farsiret &t Fimcus

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 5307][Question Description = S2_qSNz_PG_FLT_Q42]

B and D only/dqet B sfiz D [Option ID = 21225]
A and C only/a@aet A siiz C [Option ID = 21226]
C and D only/aaet C sfiz D [Option ID = 21227]
A and B only/@>qet A siiz B [Option ID = 21228]

A w N =

Correct Answer :-
e B and D only/d@>qe B siiz D [Option ID = 21225]

43) Robert Redfield argues that the "folk society” is distinguished by specific characteristics such as:
A. Little Republics

B. Use of few secondary tools

C. High division of labour

D. Use of few skilled tools

E. Independent Economies

Choose the most appropriate answer from the options given below:

e Isthles o1 Ad 3 fop el e @l forgel faoradrnsil & oRur Sitel Sirr 3, SiA &6
A. 812 s1vrdq

B. ©® f&dae SiisIRI @1 gRieT

C. 3a 9 fauisIet

D. @& g 3umll BT GRIIeT

E. Fadq sieferazenc



offa fou s1u fyeseul 3 21 & 3a= goi ¢
[Question ID = 5308][Question Description = S2_qSNz_PG_FLT_Q43]

1. A, B and C only/dact A, B siiz C [Option ID = 21229]
2. B, C and D only/daer B, C iz D [Option ID = 21230]
3. A, Band D only/daer A, B siiz D [Option ID = 21231]
4. A, B and E only/dact A, B siiz E [Option ID = 21232]

Correct Answer :-
® A, Band C only/aaet A, B siiz C [Option ID = 21229]

44) According to Walter Ong, in a primary oral culture, thought and expression tend to be driven by the psychodynamics
of:

A. Imaginary rather than tangible

B. Situational rather than abstract

C. Communal rather than participatory

D. Empathetic rather than objectively distanced

Choose the most appropriate answer from the options given below:

drcre? 3MidT @ 3R Yrelfdid dAllRam Jivapfd d, faar siiz sifircafes Folollel I forifea 8 3
A. g & SSIRI DIcufors

B. s @ seiRr Rafer e

C. IR & SSIRI ATHSIRID

D. axqforss gl @ wsIrRI acopferd

ofi o s1u fasedl & A A8} IR BT wRI6l HIfdIT :

[Question ID = 5309][Question Description = S2_qSNz_PG_FLT_Q44]

. Aand C only/daaet A siiz C [Option ID = 21233]
. B and D only/dsaer B siiz D [Option ID = 21234]
. Aand D only/@aet A siiz D [Option ID = 21235]
. Cand D only/aae C sfiz D [Option ID = 21236]

A W N -

Correct Answer :-
e Aand C only/adac A siiz C [Option ID = 21233]

45) Subaltern studies have been diversly influenced by the global scholorship of:
A. Power and Politics

B. Power and Discourse

C. Structuralist Marxism

D. Marxism-Leninism

Choose the most appropriate answer from the options given below:

__ @ df%ao of Sufdd sreerrel @ faftios g A yenfaea foem 3

A. 31 3z Irshofifer

B. 31 3ii= foerof

C. J¥golcd® AaRiaG

D. araaiare - Aféror arg

ofid o s1u fwsedl & A A8 IR BT WRI6l BT :

[Question ID = 5310][Question Description = S2_qSNz_PG_FLT_Q45]

B and C only/a5aet B siiz C [Option ID = 21237]
A and B only/@act A 3iiz B [Option ID = 21238]
B and D only/d3qet B siiz D [Option ID = 21239]
C and D only/@aet C siiz D [Option ID = 21240]

A W N -

Correct Answer :-
e B and C only/a>aet B iz C [Option ID = 21237]

46) Diaspora studies brought forth new methodologies and the key methodological tools include:

A. Empirical Ethnography



B. Dialogical Ethnography
C. Multi-sited Ethnography
D. Mobile Ethnography

Choose the correct answer from the options given below:

AYArRil (SRRIURI) 31¢RI6 of o AR 3R yga Joaaleaa Arere Ydda bu foreret onfiret 3 :
A. tepfaa opsifer avier

B. Jacura ofstifer aufor

C. sg-vecti opsifer avier

D. siferofter spsufer avfar

ofi o s1u fwedl & A A8} IR @I wRI6l HifSTT :

[Question ID = 5311][Question Description = S2_qSNz_PG_FLT_Q46]

1. Aand B only/dact A siiz B [Option ID = 21241]
2. Band C only/daer B siiz C [Option ID = 21242]
3. Cand D only/@qe C siiz D [Option ID = 21243]
4. Aand D only/dact A siiz D [Option ID = 21244]

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 21241]

47) According to Richard Bauman, "Patterning of Performance” rests on the basic elements such as:
A. Actor

B. Event

C. Role

D. Genre

E. Texture

Choose the correct answer from the options given below:

a3 aRdial @ eRIR, 'ggole oI yfepieiiazvr gfornfe acal rem _____ uR fonk ®wean 3
A. wat

B. acon

C. sfdrmr

D. feren

E. seat

il feu sru farsedl 3 A A8 IR D1 WRIet B :

[Question ID = 5312][Question Description = S2_qSNz_PG_FLT_Q47]

1. B, C and D only/daet B, C 3iiz D [Option ID = 21245]
2. A, B and D only/d@>aet A, B siiz D [Option ID = 21246]
3. B, D and E only/dact B, D siiz E [Option ID = 21247]
4. A, Cand E only/@aet A, C si E [Option ID = 21248]

Correct Answer :-
e B, Cand D only/@ae B, C siiz D [Option ID = 21245]

48) Alan Lomax's "Cantometrics” comprises vocal performance and his computational methods of study which cover:
A. Forms and Rhythm

B. Ornamentation and Blend

C. Text and Texture

D. Tension and Dynamics

Choose the most appropriate answer from the options given below:

3icTol ciRia "dDfea" 3 aiRis ygofer Fremfaee 3 iz 3ordl 31eRIel bt Horvrel faf?ril 3t onfirer 3 ¢

A. %u 3z o=



B. rsirac ik efigor

C. ure 3l Jace

D. detm@ 3iiz siferht

ofi o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 5313][Question Description = S2_qSNz_PG_FLT_Q48]

A and C only/a5act A siiz C [Option ID = 21249]
B and C only/d@act B sfiz C [Option ID = 21250]
C and D only/asaet C siiz D [Option ID = 21251]
B and D only/@det B 3iiz D [Option ID = 21252]

A W N -

Correct Answer :-
e Aand C only/adac A siiz C [Option ID = 21249]

49) In folk literature, a common literary device, most often used in speech rhetoric as a witty understatement, that
belittles something is termed as:

A. Meiosis
B. Litotes
C. Analogy
D. Eulogy

Choose the correct answer from the options given below:

clicd A3 i U 313 AMMBfed A1erat 1T P f2biorT: araugdr 3 U difdagsel wJollith @ U 3 v Sirr 3 Sl fop=ft st @l sler
olIdI 3, sl SIIdl & -

A. R

B. aforaer Fisaifep

C. aAE9a

D. gorf?a

il fou s1u freseul 3 A I IR BT a6l HIfSIE ©

[Question ID = 5314][Question Description = S2_qSNz_PG_FLT_Q49]

C and D only/@aet C sfiz D [Option ID = 21253]
A and B only/dact A siiz B [Option ID = 21254]
B and C only/asaet B siiz C [Option ID = 21255]
A and D only/dact A siiz D [Option ID = 21256]

A WN -

Correct Answer :-
e C and D only/a@aer C 3iiz D [Option ID = 21253]

50) According to James Frazer, human intellectual development passed through which three of the following stages?
A. Animism

B. Magic

C. Religion

D. Technology

E. Science

Choose the correct answer from the options given below:

SIFRA B IRD IRIR, AR DI dilgd PRI diol <RIl A Sld2 JSRI 3, I &
A. silgarg

B. sigorst

C. et

D. gienf3rht

E. fasirel

ofi 3w s1u feedl & A 8L STz DI wRiel BIRRY

[Question ID = 5315][Question Description = S2_qSNz_PG_FLT_Q50]



A, B and C only/dact A, B aliz C [Option ID = 21257]
B, C and D only/adaet B, C siiz D [Option ID = 21258]
B, C and E only/aac B, C siiz E [Option ID = 21259]
A, C and D only/daer A, C 3iiz D [Option ID = 21260]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 21257]

51) The basic concepts of Historical-Geographical Method include:
A. Variant and Normal form

B. Version and Stereotypic form

C. Original form and Deduction

D. Ur-form and Redaction

Choose the most appropriate answer from the options given below:

ofersIRTe - sielifere fafr I et sraermrom 3 onfdeT 3 :

A. firoet1 ¥4 3R ARG 3T

B. Jva3vr 30 wfe wu

C. ¥e1 39U 3l gcra

D. 32 - widt 3R sra=iz®moT

ofi o s1u fmeudl & A A8} 3R @I wRI6 HifSrT :

[Question ID = 5316][Question Description = S2_qSNz_PG_FLT_Q51]

A and D only/@act A siiz D [Option ID = 21261]
B and C only/dact B sfiz C [Option ID = 21262]
C and D only/daet C siiz D [Option ID = 21263]
B and D only/dact B sfiz D [Option ID = 21264]

A WN -

Correct Answer :-
® A and D only/dae A siiz D [Option ID = 21261]

52) According to Johann Gottfried Herder, "Volkskunde" or ‘Science of the Nation’, on which the cultural identity of people
is constructed, is based on:

A. Ethnic Behaviour
B. Literature

C. Language

D. Traditions

E. Popular Lore

Choose the correct answer from the options given below:

SiIol SICHRIS 332 @ HRIR, 'BIaAdse 3ferdl ‘e, @l sl Rt ur saftp:il & Aivaite usare fofdfa it 3, smenfea drar 3 :
A. eI ®asR U

B. awfdca ur

C. smor 0=

D. ureuRsli uz

E. clrofiRn srorggfer

ofid o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 5317][Question Description = S2_qSNz_PG_FLT_Q52]

A, B and C only/@aet A, B iz C [Option ID = 21265]
B, C and E only/daet B, C 3l E [Option ID = 21266]
A, C and D only/dsaet A, C stz D [Option ID = 21267]
B, C and D only/adact B, C iz D [Option ID = 21268]

A W N -

Correct Answer :-
e A, Band C only/daa A, B siiz C [Option ID = 21265]

53) African Bantu riddles combine the functions of:

A. Instinctual Pleasure



B. Amusement
C. Relaxation
D. Pedagogy

Choose the most appropriate answer from the options given below:

wIehl s uferdl 3 fpord BRI g 3 :

A. Fannfie® 3ieic

B. sl - gglc

C. 3R

D. forgmem+y .

sifa feu ore frpeul 3 3 A& IR DI w6t HISE <@

[Question ID = 5318][Question Description = S2_qSNz_PG_FLT_Q53]

1. Aand B only/a>act A siiz B [Option ID = 21269]
2. B and C only/daer B siiz C [Option ID = 21270]
3. Cand D only/d@aa C siiz D [Option ID = 21271]
4. B and D only/daet B aiiz D [Option ID = 21272]

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 21269]

54) A move towards synchronic approaches raised the issue of the basic unit of analysis in folktale scholarship and as a
result the units derived are:

A. Text
B. Scene
C. Type
D. Motif
E. Act

Choose the most appropriate answer from the options given below:

AAGRIE (Romiform) Summ & 3z uw sifinet @ »u i diooen fagar & gornfe sorE & T DI Sorm sk 3 3D yferse 3 gra
SO 3 ¢

A. uc

B. zoa

C. yoRrR

D. oo wie

E. sifiorn

il fou s1u Rreseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 5319][Question Description = S2_qSNz_PG_FLT_Q54]

. A and C only/aaet A siiz C [Option ID = 21273]
. B and D only/dact B 3iiz D [Option ID = 21274]
. Cand D only/dsaet C siiz D [Option ID = 21275]
. A and B only/dact A siiz B [Option ID = 21276]

A W N -

Correct Answer :-
e A and C only/dae A siiz C [Option ID = 21273]

55) Some of the important characteristics of dreams, according to Freud are:
A. Dreams possess linguistic symbols

B. Dreams reveal the archaic heritage of the person

C. Dreams possess fantasy

D. Dreams reveal the metaphysical world

Choose the most appropriate answer from the options given below:

BRIS @ 3R ¥dtel d @8 Astayqul fadudm 3 :



A. zacr 3 el gelles Afoeida aa 3

B. ¥avet saftp @ yridel RRRIa ol 3gifea o 3

C. avar 3 ey aidl 3

D. zavar 3 unsiifae AAR Igifed dar &

ofid o s1u fwsedl & A A8 IR BT WRI6T BT :

[Question ID = 5320][Question Description = S2_qSNz_PG_FLT_Q55]

A and B only/d>qet A siiz B [Option ID = 21277]
B and C only/@qet B 3iiz C [Option ID = 21278]
C and D only/@aer C siiz D [Option ID = 21279]
A and D only/dbaet A siiz D [Option ID = 21280]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 21277]

56) According to Van Gennep, a common experience of mental state during the transitional phase of initiation rites include:
A. Harmony

B. Ordeals

C. Dissonance

D. Reconciliation

Choose the most appropriate answer from the options given below:

drol 3lolU @ 3[R, 18I IFPR @D AWV TRUT B SRRIel AGIRTD SN B TP U 3MofHd A onfdret 3l 3 :
A. @R

B. Icaudien

C. eafordusa

D. Jafema

ofid fou s1u faseal # A A8 IR BT <RIl BT :

[Question ID = 5321][Question Description = S2_qSNz_PG_FLT_Q56]

1. Aand B only/d@act A siiz B [Option ID = 21281]
2. Band C only/dsaet B siiz C [Option ID = 21282]
3. Cand D only/aaet C siiz D [Option ID = 21283]
4. A and D only/aaet A siie D [Option ID = 21284]

Correct Answer :-
e Aand B only/@aet A iz B [Option ID = 21281]

57) Turner suggests that we distinguish three levels of symbolic meanings in cultural practices which constitute:
A. Informant’s meaning

B. Actual usage of form's meaning

C. Ritual symbol's meaning

D. Researcher’'s meaning

E. Actual gatekeeper's meaning

Choose the most appropriate answer from the options given below:

Tolz ot Hretol 3 15 sar Airafera gensit F Yelioras sref & dla Rl A w2 3, A3 -
A. o @i sref

B. %4l @ arafd® gIeT T sref

C. wiiows Yl T sref

D. smopitmoradi I ref

E. arrafde grura o1 sref

il feu sru faedl 3 A A8 IR D1 WRIet B :

[Question ID = 5322][Question Description = S2_qSNz_PG_FLT_Q57]



A, B and C only/dact A, B aliz C [Option ID = 21285]
B, C and D only/adaet B, C 3iiz D [Option ID = 21286]
A, B and D only/a@act A, B sliz D [Option ID = 21287]
A, C and D only/daer A, C 3iiz D [Option ID = 21288]

A WN -

Correct Answer :-
e A, Band C only/aae A, B siiz C [Option ID = 21285]

58) Moser and Bausinger conceived the concept of folklorism and their definitions were intended for all forms of folklore
which have:

A. Primary existence

B. Secondary tradition

C. Adaptation to new conditions
D. Adaptation to cyber platforms

Choose the correct answer from the options given below:

IR 3R IRtk of divardlars (Biwcf¥sa) &f sraemun &t off der Serhl uf¥mur 36 Wit diparal wul @ afdEa off Rod urr 3 :
A. greafde siRawa

B. fediRis usuar

C. orf ufReferil & gfer sroyaetor

D. rsw= Fiel @ gfer srogapetol

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 5323][Question Description = S2_qSNz_PG_FLT_Q58]

A and B only/dsaet A siiz B [Option ID = 21289]
B and C only/dact B siiz C [Option ID = 21290]
C and D only/dsaet C siiz D [Option ID = 21291]
B and D only/@qet B 3iiz D [Option ID = 21292]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 21289]

59) New Media Platforms are commonly considered to include:
A. Skyrock

B. Billboards

C. Pinterest

D. Quora

Choose the most appropriate answer from the options given below:

oTu 3 i st Ak uR 9nfier o & ?

A. ForEio

B. fredisd

C. Rice

D. @arr

ofi o s1u fwsedl & A A8 IR BT <RIl HIfRvIT :

[Question ID = 5324][Question Description = S2_qSNz_PG_FLT_Q59]

B, C and D only/d@aer B, C siiz D [Option ID = 21293]
A, C and D only/daer A, C siiz D [Option ID = 21294]
A, B and D only/@aet A, B 3iiz D [Option ID = 21295]
A, B and C only/@aet A, B iz C [Option ID = 21296]

A W N -

Correct Answer :-
e B, C and D only/dact B, C 3liz D [Option ID = 21293]

60) Identify the scholars who attempted to theorize global cultural processes by way of a practice-centered approach.
A. Arjun Appadurai
B. Jan Nederveen Pieterse

C. Ulf Hannerz



D. Jonathan Friedman

Choose the most appropriate answer from the options given below:

3ol fagreil &I usta difsie RKieaiol yen dfoga urE @ #Aredd A dffad Araiae giprmsil o Rigidiaur wel oI YRt e :
A. 3fa srourgE

B. siret ofidecfior et

C. 3w 3ot

D. Siiererst GRS

ofi o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 5325][Question Description = S2_qSNz_PG_FLT_Q60]

. A and D only/d@aet A siiz D [Option ID = 21297]
. B and C only/dsaer B siiz C [Option ID = 21298]
. Cand D only/asaet C iz D [Option ID = 21299]
. B and D only/daet B sfiz D [Option ID = 21300]

A W N -

Correct Answer :-
e A and D only/dac A siiz D [Option ID = 21297]

61) Stuart Hall defines a "new form of globalisation" as distinctly American cultural homogenization through the apparatus
of:

A. Television and Film

B. Internet and New media
C. Mass advertisement

D. Mass consumption

Choose the most appropriate answer from the options given below:

I¢3r¢ BIet of "'AdiapUT B 1T w4 DI ufHItd fopar 3 a8 Fuseara forolfeiRaa o arexra A ERID! ARpiae Aeofiaur 3 :
A. eefifasa siiz fisear

B. gevole iz orm #ifdn

C. =muw fasiast

D. cmuw wua

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 5326][Question Description = S2_qSNz_PG_FLT_Q61]

B and D only/dsaet B siiz D [Option ID = 21301]
B and C only/dact B sfiz C [Option ID = 21302]
A and C only/d@act A siiz C [Option ID = 21303]
A and B only/@act A 3iiz B [Option ID = 21304]

A W N -

Correct Answer :-
e B and D only/daet B siiz D [Option ID = 21301]

62) According to Pierre Bourdieu, the possession of knowledge and formal or informal qualifications by which an individual
gains position in particular social circles and organisations is known as:

A. Cultural Capital
B. Social Capital

C. Working Capital
D. Flexible Capital

Choose the most appropriate answer from the options given below:

dRR aRSY D IIGRIR S AP 3Uol el Bd Ui iR iUy ArAdrsil @ FaIfdicd B SRI U fafdrse ARniSie AHSRI AT FHvIool 3
3UGIT FUTol YT Dl & R Pal SIdl 8 :

A. At ysit
B. amenfSre ysit
C. orf gsit



D. o gsit
o fu s1u farapeul 3 A 2t IR BT R DI :
[Question ID = 5327][Question Description = S2_qSNz_PG_FLT_Q62]

A and B only/dsaet A siiz B [Option ID = 21305]
B and C only/dact B sfiz C [Option ID = 21306]
A and C only/d@act A siiz C [Option ID = 21307]
A and D only/dbaet A siiz D [Option ID = 21308]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 21305]

63) A traditional folk theatre form of Maharashtra, ‘Tamasha’ has evolved from the folk forms such as:
A. Gondhal

B. Jagran

C. Powada

D. Bahurupi

E. Kirtan

Choose the correct answer from the options given below:

HBRITE, DI URUI¥D Tl olIc ¢ 'dHIoN’ 3ol clld YbRI A ol g3 3 :

A. siiereT

B. SieRU

C. diarst

D. sgtl

E. bidar

ofid o s1u faseal & A A8 IR BT <RI BT :

[Question ID = 5328][Question Description = S2_qSNz_PG_FLT_Q63]

B, C and D only/daet B, C siiz D [Option ID = 21309]
A, C and D only/d@aet A, C siiz D [Option ID = 21310]
B, D and E only/d@>qe B, D siz E [Option ID = 21311]
A, B and E only/d@aet A, B siiz E [Option ID = 21312]

A W N -

Correct Answer :-
e B, C and D only/a@5aa B, C aiiz D [Option ID = 21309]

64) Development of ethnography was driven by a need to study complexity of the human condition and a rejection of the
growing use of decontextualised, experimental methods associated with:

A. Empiricism

B. Perspectivism
C. Objectivism
D. Positivism

E. Relativism

Choose the correct answer from the options given below:

ofSIIciiRI auier T ferprR sirera ufkR-erfer & sIfecransii @ 3R & smagaaarsii A YRa e 3R RRicolfmzur @ aed YRIBT T 3Rdl®muT a1, Jd
gfSre gunfert ddfera 3 :

A. sropaarg

B. gferjg=mac

C. Raforsoarg

D. yragiarg

E. Jdde arc

ofid o s1u fasedl & A A8 IR BT <RIl BT :

[Question ID = 5329][Question Description = S2_qSNz_PG_FLT_Q64]



B, C and E only/@act B, C siiz E [Option ID = 21313]
A, C and D only/daer A, C 3iiz D [Option ID = 21314]
A, B and D only/d@act A, B aliz D [Option ID = 21315]
B, C and D only/dact B, C sfiz D [Option ID = 21316]

A W N -

Correct Answer :-
e B, Cand E only/@ac B, C iz E [Option ID = 21313]

65) Two of the most common ways of collecting data within the qualitative approach in the development of social science
research are:

A. Schedules

B. Research Diaries
C. Interviews

D. Questionnaires

Choose the most appropriate answer from the options given below:

AIfSIS 9 oNel & Rt 3 JPncH® eficmlvr & siasia siiwst s & < sifer ey adid (ughrn) 3 :
A. oRIDH

B. oiter srafif

C. g r

D. gesmaferait

il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 5330][Question Description = S2_qSNz_PG_FLT_Q65]

. A and B only/@act A 3iiz B [Option ID = 21317]
A and C only/dact A siiz C [Option ID = 21318]
B and C only/a@qet B siiz C [Option ID = 21319]
B and D only/dact B sfiz D [Option ID = 21320]

A W N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 21317]

66) Match List | with List Il

List | List Il

Definition of Folklore Propounders

A. as the people’s knowledge |I. Edward Leech

B. as the common property 1. Y. M. Sokolov

C. as collective actions of the multitude Ill. Samuel P. Bayard
D. as accumulated knowledge of homogeneous unsophisticated peoplellV. James G. Frazer

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma B

Rret -1 Rreh -1l

(clieparat bt ufyamorn) (gferarces)

A. elisll @ Siiel @ WU 3 |. usas cfia

B. Stot Jdufe @ »u 3 Il. ar$. uar. oliIciia
C. sgizonl & ARD g @ wu A Ill. Agarer di. RS
D. =il forsabuce cilell @ JAfrd siel @ U # IV. S Sft Berz

oifeY feu oru famedl 3 A 8 3R gforo :
[Question ID = 5331][Question Description = S2_qSNz_PG_FLT_Q66]

A-1,B-1I,C-1ll, D - IV [Option ID = 21321]
A-1ll,B-1V, C-1,D - Il [Option ID = 21322]
A-1V,B-1,C-1l,D - Il [Option ID = 21323]
A-11,B-1Il,C- 1V, D - | [Option ID = 21324]

A w N =

Correct Answer :-

© A-1,B-1l,C-1l,D-IV[Option ID = 21321]
67) Match List | with List I
List | List Il
Scholars Area of study
A. John D. Smith |l. Punjabi Folklore
B. William Crooke [ll. Kashmiri Folklore




C. Hinton Knowle |lll. Bengali Folklore
D. Frank Koram |[IV. Rajasthani Folklore
Choose the correct answer from the options given below:

It -1 oot gt -1l 2 gifera difre ¢

Rxet -1 oreh -

(frsret / 1atsT) (31€RRIGT BT 1Y)

A. Sifet St Rarer |. derrel clieparat

B. faferar g 1. 9diist clrparat
C. fBoical sllact Ill. somedt cliparat
D. © dDRET IV. IsiFeneht ciasarat

ofiax fRu o1 el 3 A At W= gfom :
[Question ID = 5332][Question Description = S2_qSNz_PG_FLT_Q67]

A-1,B-1l,C-1ll, D - IV [Option ID = 21325]
A-11,B -1, C-1V, D - | [Option ID = 21326]
A-1V,B-1,C-II, D - lll [Option ID = 21327]
. A-1ll,B-1V,C-1,D- Il [Option ID = 21328]

AW N =

Correct Answer :-
e A-I,B-Il,C-Ill,D-IV[Option ID = 21325]
68) Match List | with List Il
List | List Il
Idea/Concept Meaning
A. Annotation|l. A song of lament
B. Dirge Il. A collection of bits from various writers
C. Cento Ill. Separation of a compound word
D. Diacope |IV. Textual comment in a book
Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -1 ot -l

(foram= / sraenzomg) (3ref)

A. Golicorsl |. g olwsfia

B. st Il. fafdroor crawml & feilRaa siell @1 FoE
C. A Ill. o RBiidfa araxr oI fiesds

D. sSrRIwlu IV. v grae i urs fawrie fevaufl

il fou o1 frpeul 3 ¥ A IR gforw ¢

[Question ID = 5333][Question Description = S2_qSNz_PG_FLT_Q68]
A-1,B-1l,C-1ll, D - IV [Option ID = 21329]
A-1V,B-1,C-1l,D-Illl [Option ID = 21330]

1.
2.
3. A-1I,B-1ll,C-1V, D - [Option ID = 21331]
4. A-1ll,B-1V, C-1,D - Il [Option ID = 21332]

Correct Answer :-
e A-1,B-1l,C-Ill,D-IV[Option ID = 21329]

69) Match List | with List Il

List | List Il

IMyth Ritualist Country

A. Mircea Eliade I. England
B. Robertson Smith Il. Scotland

C. Stanley Edgar Hyman [lll. Romania
D. Jane Ellen Harrison |IV. America
Choose the correct answer from the options given below:

It -1 ot g -1 21 gifera difste ¢

oxett -1 gt -l
A. 3IRBrI uclies I. s3cis
B. Iraérar Rarer Il. Ficcis
C. ¥eorchl UsoR 3ol Il. Jrenform
D. Stel wetol 3fetat IV. sprier

il fou o1e fyscul 3 A At IR gfom ©



[Question ID = 5334][Question Description = S2_qSNz_PG_FLT_Q69]

A-1,B-1ll,C-1l,D- IV [Option ID = 21333]
A-1V,B-1,C-1ll, D - Il [Option ID = 21334]
A-1ll,B-1I,C-1V, D - | [Option ID = 21335]
A-11,B-1V,C-1,D - Il [Option ID = 21336]

A WN -

Correct Answer :-
e A-I,B-1ll,C-Il,D-IV[Option ID = 21333]

70) Match List | with List Il

List | List Il

Book lApproaches

A. Argonauts of the Western Pacific I. Social functionalism

B. A Natural Science of Society Il. Symbolic functionalism

C. The Elementary Forms of Religious Life |lll. Bio-cultural functionalism
D. Purity and Danger IV. Structural functionalism

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

Rxet -1 Rreh -1l

(gzam) (efeceion)

A. 3RSIIGIC 3P ¢ d¥cot URifbd |. Jmenfsre yoriarg

B. 31 olgRel ATEA 3B AR Il. yefioreares yoriag

C. € ucildicd vl sw fcilsoa asw lll. Sia - ARDRS yoriare
D. ®If¥E uus SoeRk IV. Izdgoicas goriarg

il fRu o1 el 3 A At I gfom :
[Question ID = 5335][Question Description = S2_qSNz_PG_FLT_Q70]

A-1,B-1l,C-1ll, D - IV [Option ID = 21337]
. A-1ll,B-1V,C-1,D - Il [Option ID = 21338]
A-11,B -1, C-1,D- IV [Option ID = 21339]
A-1V,B-1,C-Il, D -lll [Option ID = 21340]

AW N =

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 21337]

71) Match List | with List Il

List | List Il
Scholars Concept
A. Milton Singer I. Game Analogy

B. Erving Goffman Il. Environmental Theater

C. Richard Schechner |lll. Black Cultural Innovations
D. Roger Abrahams  [IV. Ritual Cities

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rt -1 Rt -1l

(fargror) (sraemzvm)

A. Bicieot Risk I. e srefReudr

B. s3fefer aliwdter Il. wRIfa=vcaD ollgIONCIT
C. TS IraoRr Ill. sredier Jivapier - orayacior
D. IS GBI IV. enfdic oPR

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 5336][Question Description = S2_qSNz_PG_FLT_Q71]

A-1,B-1ll,C-1V, D - Il [Option ID = 21341]
A-1ll,B-1,C-1l,D- IV [Option ID = 21342]
A-1,B-1,C-1ll, D - IV [Option ID = 21343]
A-1V,B-1,C-1l,D - Il [Option ID = 21344]

A W N -

Correct Answer :-
e A-I|,B-Ill,C-1IV,D- Il [Option ID = 21341]

72) Match List | with List Il

List | List Il

Social Media [Function

A. Italki |. Voice based site




B. Etoro Il. Language learning site
C. Xing Ill. Social trading site
D. Bubbly [IV. Career oriented site

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 Rzl -1l

(norer fif3=m) (1)

A. 3mscIps |, aray smenfea Ferea

B. scR1 1. sirom siffremar Feret

C. foip (fSfe1) lll. Ao =R Fere
D. gecit IV. Siifdreot siftiea Feret

offa fou s1o fRrpeul 3 3 A I gforw ©
[Question ID = 5337][Question Description = S2_qSNz_PG_FLT_Q72]

1. A-1I,B-1Il, C-1V, D - | [Option ID = 21345]
2. A-1IL,B-1I,C-1,D- IV [Option ID = 21346]
3. A-1,B-1V,C-Il,D- Il [Option ID = 21347]
4. A-1V,B-1,C-1ll,D- Il [Option ID = 21348]

Correct Answer :-

e A-Il,B-Ill,C-1V,D-1[Option ID = 21345]
73) Match List | with List Il
List | List Il
Concept Propounders

IA. Common Culture

|. Theodor Roszak

B. Constellation

Il. Henry Jenkins

C. Convergence

Ill. Raymond Williams

D. Counter Culture

IV. Walter Benjamin

Choose the correct answer from the options given below:

It -1 ot g -1 21 gifera difsre ¢

Roreht -1 gl

(3raemum) (gferarce)

A. JdTol JF@mier |. PPrRISkE s
B. drwisc Il. 3018t Stoifdpoa
C. sif3rrzor lll. Jur6s fafererT
D. gfer - izmfa IV. arcrez Sosnfirer

oflax fRu o1 el 3 A At W= gfom :

[Question ID = 5338][Question Description = S2_qSNz_PG_FLT_Q73]

A-IV,B-1,C-1ll,D

AW N =

Correct Answer :-

® A-I,B-1l,C-1I,D-

A-1,B-1l,C-1lI, D -
A-11,B -1V, C-1ll, D - | [Option ID = 21350]

IV [Option ID = 21349]

- 1l [Option ID = 21351]

. A-1ll,B-1IV,C-1l,D-I[Option ID = 21352]

IV [Option ID = 21349]

74) Match List | with List Il

List |

List Il

Indian State

Ethnic Cuisine

IA. Himachal Pradesh

I. Kafuli

B. Madhya Pradesh

Il. Dham

C. Odisha

Ill. Chenna Poda

D. Uttarakhand

IV. Bhutte Ka Kees

Choose the most appropriate answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rreht -1 _reht -1

(errefi=T IrS°1) (urRuf¥es xistor)
A. fare ggor |. orpcht

B. sre=1 ggor Il. emar




C. 3 Ill. St arst
D. Smerds IV. 312 1 bl
oifY feu oru famedl 3 A 8 3R gforo :

[Question ID = 5339][Question Description = S2_qSNz_PG_FLT_Q74]

A-1I,B-1V, C-1lll, D-[Option ID = 21353]
A-1,B-1,C-1V, D - Ill [Option ID = 21354]
A-1I,B-1V, C-1I,D-[Option ID = 21355]
A-1,B-1l,C-1V, D - Ill [Option ID = 21356]

AW N =

Correct Answer :-

e A-Il,B-1IV,C-lil,D -1 [Option ID = 21353]
75) Match List | with List Il
List | List Il
IApproach Practitioners
A. Ethnopoetic [l. Pierre Maranda
B. Structural |ll. Dennis Tedlock
C. Ethnography [lll. Judith Butler
D. Gender IV. John Gumperz
Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 Rzl -1l
(efScaion) (zoaf)

A. SJDIRINNRF] I. di=R FRisT
B. Jiolica® 1. 3for1 esend
C. opstrfer auior lll. Sifser seerr
D. feisr IV. Siret sperast

off fou s1o frpeul 3 3 A IR gforw ©
[Question ID = 5340][Question Description = S2_qSNz_PG_FLT_Q75]

A-1ll,B-1I,C-1,D - IV [Option ID = 21357]
A-1V,B-1ll, C-1I, D - | [Option ID = 21358]
A-11,B-1,C- IV, D - Il [Option ID = 21359]
A-1,B-1I,C-Ill, D - IV [Option ID = 21360]

A W N -

Correct Answer :-
e A-IlIl,B-1IlI,C-1,D-IV[Option ID = 21357]

76) Sequence the development of concepts of folklore in chronological order:
A. Grand Narrative

B. Archetype

C. Social Solidarity

D. Cultural Metabolism

Choose the correct answer from the options given below

clipardl &l AFAcuciisil @l fIdrRT & RIIGRIR cPIe

A. HaI6 3RATeT

B. armrer csu

C. Ao vorcadr

D. Aivapfers aRmuerRs

il fou o1 fraseul 3 31 & Fa= goi ¢

[Question ID = 5341][Question Description = S2_qSNz_PG_FLT_Q76]

A, B, C, D [Option ID = 21361]
C, A, B, D [Option ID = 21362]
D, C, A, B [Option ID = 21363]
B, C, D, A [Option ID = 21364]

A W N -

)

Correct Answer :-
e A, B, C, D [Option ID = 21361]

77) Arrange the scholars who worked on mythology, from West to East, based on their country of origin.



A. Wendy Doniger

B. Carl Jung

C. Bronislaw Malinowski
D. Claude Levi-Strauss

Choose the correct answer from the options given below

g1Vl e ur o1 @l arcl forotfelRaa frgrell ol o> 391 @ SolRIR Uf2ier A gd @ a1 3 oI ©
A. d3t Siforse

B. et Sior

C. diforeen aferoitas<bt

D. gerrs ol 3¢

ofid fou a1e el & A A8 I goi ¢

[Question ID = 5342][Question Description = S2_qSNz_PG_FLT_Q77]

1. D, B, A, C [Option ID = 21365]
2. A, D, B, C [Option ID = 21366]
3. C, D, A, B[Option ID = 21367]
4. D, A, B, C [Option ID = 21368]

Correct Answer :-
e D, B, A, C[Option ID = 21365]

78) Sequence the forms of folktale as per the Stith Thompson's Analysis:
A. Hero Tales

B. Explanatory Tales

C. Animal Tales

D. Fables

E. Numskull Tales

Choose the correct answer from the options given below

ciiomen @ forret Ul @t Reer ediFuter gRI fpT °1g fradaur @ SgLAR PN :
A. ARIP PUe

B. Rrarvncae weme

C. ugj @erg

D. ga weam

E. gfgdlan (ceemer) dam

ofi o s1u el 3 A A8t ST ol ¢

[Question ID = 5343][Question Description = S2_qSNz_PG_FLT_Q78]

D, A, C, B, E [Option ID = 21369]
A, D, B, C, E [Option ID = 21370]
E, A, B, C, D [Option ID = 21371]
E, A, D, C, B [Option ID = 21372]

A W N -

y Ay Uy

Correct Answer :-
e D, A C, B, E[Option ID = 21369]

79) Sequence the scholars who were connected with migration theories:
A. Kaarle Krohn

B. Carl von Sydow

C. Stith Thompson

D. Theodor Benfey

Choose the correct answer from the options given below

gasial RBigidl A g foreifeiRaa ol ®l GargRiR oend :



A. orcl Qs

B. et aret st

C. Rea ameurtol

D. RRISR do

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 5344][Question Description = S2_qSNz_PG_FLT_Q79]

D, A, B, C [Option ID = 21373]
A, B, C, D [Option ID = 21374]
B, C, D, A [Option ID = 21375]
C, B, D, A [Option ID = 21376]

A W N -

Correct Answer :-
e D, A, B, C [Option ID = 21373]

80) Sequence the comparitive mythologists with their country of origin, from West to East:
A. Jose Manuel Losada

B. Alexander Haggerty Krappe

C. Fedor Ivanovich Buslaev

D. Bernard Sergent

Choose the correct answer from the options given below

forgotferfRad qetollcdicd GRIVT 1AM DI JoTd 31Ul - Ul S91 B 3iofAR UfRisd A gd & a1 3 cIoI :
A. ST Jiegsret RISt

B. sraiasis? a1l aya

C. W2 samilfoa graa

D. waifs a=sic

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 5345][Question Description = S2_qSNz_PG_FLT_Q80]

B, C, D [Option ID = 21377]
C, D, A [Option ID = 21378]
A, D, B [Option ID = 21379]
D, A, C [Option ID = 21380]

A w N =

)
Correct Answer :-

e A, B, C, D [Option ID = 21377]

81) Arrange in sequence the correct origin and classification of Anglo-American Ballads:

A. Parlor Songs

B. Child Ballads

C. Cowboy Songs
D. Broadside Blues

Choose the correct answer from the options given below:

forgot arivet - stk s fidl @I Sorcbl At scufe iz aolfdvr B DAHTGTAR eI
A. amaf (urch) ofia

B. arct smemsfia

C. saret sfia

D. 515 A15S St

il fou s1u fyapeul 3 21 & 3a= goi ¢

[Question ID = 5346][Question Description = S2_qSNz_PG_FLT_Q81]

A, B, D, C [Option ID = 21381]
B, C, D, A [Option ID = 21382]
A, B, C, D [Option ID = 21383]
B, D, C, A [Option ID = 21384]

A WN -



Correct Answer :-
e A, B, D, C[Option ID = 21381]

82) Arrange in sequence, the concepts related to folklorism:
A. Folklorism

B. Folklorisation

C. Second life of folklore

D. Folk Creativity

Choose the correct answer from the options given below:

A. clisarat ag

B. clicamaimzor

C. ciioearat o1 el sfiaer

D. cll® Jswelrcaddr

ofl fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 5347][Question Description = S2_qSNz_PG_FLT_Q82]

C, A, B, D [Option ID = 21385]
A, D, B, C [Option ID = 21386]
B, D, C, A [Option ID = 21387]
D, C, B, A [Option ID = 21388]

A W N -

Correct Answer :-
e C, A, B, D [Option ID = 21385]

83) Arrange in sequence the social movements in India
A. Save Silent Valley Movement

B. Vaikom Satyagraha

C. Nirbhaya Movement

D. Namantar Andolan

Choose the correct answer from the options given below

uRd # forgsiferl¥aa A@fSia sogicioll M1 BICTRAHTIAR TPIE

A. Ja Arscic defl Fadic

B. aswia Acaee

C. forsfar sridicrot

D. omaiaR sticictol

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 5348][Question Description = S2_qSNz_PG_FLT_Q83]

B, C, D [Option ID = 21389]
A, B, D [Option ID = 21390]
, A, D, C [Option ID = 21391]
D, B, A [Option ID = 21392]

A W N -

’

Correct Answer :-
e A B, C, D[Option ID = 21389]

84) Arrange in sequence, the ethnic cuisines of India from West to East:
A. Kosha Mangsho

B. Dal Batti Churma

C. Bajre Ki Kichdi

D. Litti Chowkha

Choose the correct answer from the options given below



aRd @ foperfeiRaa geirdia wistell @1 uf2er A gd & GAlgRIR eI :

A. @lom TN

B. crerarél ggam

C. acR &I Raast

D. ferét azm

il fou s1e fyaseul 9 3 W& 3a= goi ¢

[Question ID = 5349][Question Description = S2_qSNz_PG_FLT_Q84]

1. B, C, D, A[Option ID = 21393]
2. C, D, B, A[Option ID = 21394]
3. A, B, C, D [Option ID = 21395]
4. D, C, A, B [Option ID = 21396]

Correct Answer :-
e B, C, D, A[Option ID = 21393]

85) Arrange in sequence the steps involved in the content analysis of an interview:
A. Assign codes to the main themes

B. Identify the main themes

C. Integrate themes and responses into the text of your report

D. Classify responses under the main themes

Choose the correct answer from the options given below

AP R D frermarq fpaygur 3 Afdafera Aurel B GArGRIR eI

A. #¥=1 il @ e @ forra @l

B. a1z fereril &bl usaret @l

C. fareril sz yegerl @l s1uol gferdcot 3 Adrpiera w3l

D. yegerl @1 31 fareril @ sicrela asffaszor

ofid fou a1 el 3 1 8t ST gl :

[Question ID = 5350][Question Description = S2_qSNz_PG_FLT_Q85]

D, A, B [Option ID = 21397]
B, C, D [Option ID = 21398]
, A, D, C [Option ID = 21399]
A, B, C [Option ID = 21400]

A w N =

)

Correct Answer :-
e C,D, A, B[Option ID = 21397]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Levi-Strauss contended that the purpose of myth is to provide a logical model capable of overcoming a
contradiction.

Reason R : Such operations are an inherent feature of the means invented by nature to make possible the functioning of
language and thought.

In light of the above statements, choose the correct answer from the options given below

ol A werol R o 3 ;. uop sifdrperct (A) & wu 3 fRiRaa 3 @ gar1 3ud @Rl (R) & »u 3 :

sifdraerot (A) @ ol ¥ @1 Daon o b fBrerd @1 329w siafdier A ur urel A Awel v aasHsIa #Hisa Yglol doll 3

@RI (R) : 3A YR @ Yarclol 3mHI iR far & oriaur ot 3 dolel @ 18 yaftl GrI sufirsgpd Suril @ siodfeidda agmr 3
SWRIFP Pl D 3Mrelld #, ofld 3w 31w fRrpedl 3 A AR IuYeP IR DI TRIol HIRIT ©

[Question ID = 5351][Question Description = S2_qSNz_PG_FLT_Q86]

Both A and R are true and R is the correct explanation of A/(A) iz (R) g¥ail 311 & 3z (R), (A) &t 38 e 8 [Option ID = 21401]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gIail 3 & weag (R), (A) P 3@ e oidt & [Option ID = 21402]
A is true but R is false/(A) 3 3, aifcvar (R) 3R & [Option ID = 21403]

A is false but R is true/(A) sri1 8, aifcpar (R) 3= 3 [Option ID = 21404]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 3= & 3iR (R), (A) &t 38t =me=n & [Option ID = 21401]



87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In 'Verbal Art', Bauman defines performance as a special mode of interaction in which the performer takes the
responsibility for display of communication competence.

Reason R : One of the many techniques that may be used to mark a stretch of behaviour as a performance is explicit
disclaimers and denials of performance.

In light of the above statements, choose the correct answer from the options given below

oif<l S ol e se 3 : uwo 3ifdrped (A) @ wu 3 feilRaa 3 al grI 33D PRI (R) D wu 3 @

aifdrperet (A) : 'HiRae oo A adial Ygolol @I sid:fepan @ v A A9y e @ a3 ufesnita o 3 PR darpr AYHUT AR B
ggolol @ fere IaciRia oar 3

®RUI (R) : IFzuse srdiwvT g ygolel @I Fuse U=l sl YfAfRIl 3 A v 3 SRI®I RMasR @ b eI @I ggoled @ WU 3 Rifesda v s
IADAI

JURITP Dol D 3MTelld 3, ofldl fGu s1u fdeul 3 A AR IWRITD a2 DI ol DIfSTT ©
[Question ID = 5352][Question Description = S2_qSNz_PG_FLT_Q87]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlall 31 8 3R (R), (A) &t 38 carzn & [Option ID = 21405]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) clail 31 & afdvat (R), (A) 6t 318 wmen oidf 3 [Option 1D = 21406]
3. Ais true but R is false/(A) 3= 3, afdpat (R) sricx 8 [Option ID = 21407]

4. Ais false but R is true/(A) sric 8, lfdset (R) 31 & [Option ID = 21408]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 311 8 &ii (R), (A) &t 31t =me=n & [Option ID = 21405]

88) Given below are two statements:
Statement I: The first life of folklore exists outside the source-community and is manifested in an objectified form.

Statement Il: The second life of folklore is a part of the fabric of everyday living and is a natural part of a broader tradition
system.

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 erer Ru sre 3 :

et - | : cliearal & gerar sfiaet T 1ol JId - AASK A ars? ARara alar 3 3iik arqmd wu 3 A 3iar &

@Yol - || : el arai @I f&di siidaol Seifdol Siidel @ dlol - dlel @I Tad HBI 3 3k g&d? uRUl¥® Yulreil @I o YIgpicd HeT &
SWRIRD DUl D 3Iclld 3, il f6u a1e fdmedl 3 A A IUYTD IR DI TRIol DI :

[Question ID = 5353][Question Description = S2_qSNz_PG_FLT_Q88]

1. Both Statement | and Statement Il are correct/@perer | 3z |l Si6il 2t & [Option ID = 21409]

2. Both Statement | and Statement Il are incorrect/wept | siz |l Gkl sl & [Option ID = 21410]

3. Statement | is correct but Statement Il is incorrect/aermer | & & , fdboq et |l sl & [Option ID = 21411]
4. Statement | is incorrect but Statement Il is correct/emt | s/ & , fpoq @eret |l 3t 8 [Option ID = 21412]

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 Sloil 21 & [Option ID = 21409]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The mere fact of having engaged in an internet activity does not produce in a user the sort of sense of identity
and belonging which accompanies the term community.

Reason R: Narratives on email and SMS are shared with friends and relatives, and are circulated among those who enjoy
them.

In light of the above statements, choose the correct answer from the options given below

ofid <1 werot fBu a1 3 ;. uop sifdrperct (A) & wu 3 fiRaa 3 a1 g1 3ud orvl (R) & a3 :

aifdrperet (A) : Seolc fopRrr ey 3 icioel dlol DI A Al YRITPI 3 Usdlel 3R SSId I AJ}T HIM IcUool oSl B3I & AT AISRI A JST Il
3

@Rl (R) : $391a a vauwHaTA & HAree A Bigl g uf¥sel & el smsirel AEn pU S 3 31k Sord dfa ufyanfera fopu Sira 3 Sit eIt 3iieic o
aoa 3

SWRIFP DUoll D 3MIelld #, ofld 6w 31w fpedl 3 A AR IUuYeD IR DI TWIol IS ©

[Question ID = 5354][Question Description = S2_qSNz_PG_FLT_Q89]



Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil A1 & 3R (R), (A) &t 38 == 8 [Option ID = 21413]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) @il 31 & clfdpat (R), (A) 6t 31t =mezn ot 8 [Option ID = 21414]
A is true but R is false/(A) =1 3, cifdper (R) sRicr 8 [Option ID = 21415]

A is false but R is true/(A) sric 8, aifdser (R) 31 & [Option ID = 21416]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) gleil 31 & 3l (R), (A) &I 38 =z 8 [Option ID = 21413]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The aim of the ethnographic interviewing process is to collect data that reveal the culture of the person being
interviewed, specifically, insights into their perceptions and world views.

Reason R : The position, the researcher holds as the one who must balance the insider/outsider experience is crucial in
helping explicate the meanings underlying mundane realities of the culture being studied.

In light of the above statements, choose the correct answer from the options given below

il St werol Ru s1e 3@ v sifdrperet (A) @ wu 3 feilRaa 3 aY garr 33> oRvt (R) & »a ¥ :

aifdrpee (A) : I ATSCDR GIHRAT DI 1§ & U DS U] Dol Sl ATSICDIR U ST 3 Aftp &l Armier oI, fadam: Iad geet dier
3R Jotd foreq efieapivr bt Jgaefe PR B2

@RI (R) : enermal & Rrefer vm ¥ caftd @ wu 3 Sl sfiadl / e sieiya @ dka Jdclel JoIdl 8, 31ERIe1 bl oIt 3 Arpfa @ ARnya
erref & ol @ 3ref Y Tute Bt 3 i AsRIG 3

SWRAD Pl D el 3, ofid fGu sre fravedl 3 A AR IURITD IR DI RIol DIfSIT :
[Question ID = 5355][Question Description = S2_qSNz_PG_FLT_Q90]

Both A and R are true and R is the correct explanation of A/(A) iz (R) gXail 311 8 3z (R), (A) &6t 3& e 8 [Option ID = 21417]

Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) clell 3 & wag (R), (A) &t & wien oidt 8 [Option ID = 21418]
A is true but R is false/(A) 31 &, aifdpet (R) sricar & [Option ID = 21419]

A is false but R is true/(A) sric 8, cifcvar (R) =1 & [Option ID = 21420]

A w N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 3 2 ik (R), (A) &t 38t =mezn 3 [Option ID = 21417]

Topic:- FolkLit_B

1) Read the passage given below and answer the questions that follow

The idea of projection brings one logically to psychoanalytic theories of myth, which actually antedate Cassirer's. These
theories come in a variety of forms. Perhaps the best known is the Jungian, because Jung and his followers bring myth into
their basic theoretical suppositions about the nature of the human mind, while the followers of Freud treat the phenomena
of myth as derivative from other fundamental properties. The kernel of all psychoanalytic theories of myth is the
assumption that the symbols of myth and, possibly, the themes underlying the plots are constructed in, or well up from, the
unconscious: and when psychoanalysts use the word 'unconscious’ they do not mean by this what most laymen mean by the
term 'subconscious’. The material of the unconscious is not on the tip of the conscious tongue; it cannot readily be made
conscious, except by using a theory which, firstly, interprets the symbols of the unconscious in the language of
consciousness and secondly, unravels the processes of condensation, displacement, splitting, etc., which are characteristic
of it.

For Jung, the symbolic structure of the unconscious is a reality, sui generis: it cannot be fully reduced to any other level of
experience. Some of this symbolic substratum is shared by all humans; other parts are shared only by members of the same
race, nation or cultural group. (Neo-Jungians would opt for cultural group and stress socialisation as opposed to racial-
genetic inheritance.) The universal characteristics of the collective unconscious of mankind takes local forms.

forgaifeiRaea srerior o ufeu 3iiz geot & 3az difsme @

ggiuvl ol AR e aifebe U A e & selifeesuvit Rigidl ae o sirar 3 st avda: @ Brir @1 gfefeaifeea 3 us Rigia «f ul 3 ue
Sl 3 9IRIG Aalfere gaferd sisiRiet 3 ariifds Siol siiR 3ol SIoRIRI Beras @l e fd® @ ymfiia @ difere Rigifoad arewrdnsii 3 Fsfise
D & SEfs \BIsc D IGRI Brer &l ufseren @ Jerx 3Iull A RIrdool dAleld & e o Wsfl iyl Rigedl @ e 3 A6 gd arun
oATd 8 [ frere @ JAda Iad: DAIAD 3 fodfelidd S 3[<Idol ol 3 ool Il & 3iI? S HGIA*SUD M6l 916G DI YRIIBT DA & ad TR
JotepT MMIYRI a8 o1dl BXar ST s 3iferasior ARG HAleld Aol UG BT MYRI AHSIA 3 3ol a8 Adol f3rea1 @ 310] 19T 3 oldl Blel; IA
AcDIcT AcTol o181 SoIRI SIT ADAT $A dadd 3A Feufer @ siremar st Rrgia o1 YRileT @2 ged: AAddr bl e 3 srddol el d Addl bt
e bt St 2 3iie fgeiRia: Jrerer faremaer Fvsa 3ifS Sil s3rd  sifdrengifdte gipRsil 3t s31aT FBRILgRuI e Sirar 3, I ferfer i
RIIGH A STl ¢RIl S ADI &

SieT @ AAIGRAR 3ol el bl ATDIerD et aemel, Fariy 3 ; 3 Yula: gerd? op[a @ 36 el ¥R ao ol R S ADar 3 BT
AiDBIerD sifersoret il safepeil 3 Bl 3; sro1 sior dact 3l olvel, IS AT ARDIID APg D Al 3 [AeErret Aer 3 (sra-sidvll ARDIID AP
3R ol AATSHDRUT DI oRIcHl-Sielfold 3ioldifdrdl & fAwRl @ Hu 3 el 3)



JHlold AT Bl ATHRD 3ol D ATMHIRID cI810T Ferford FaBU 3JEUT B2 oidl 3

Psychoanalytical theories relate 'myth' to the process of the mind in terms of
Folifeasddl Rigidi 3 forvotferiRa 3 21 vt e Rrera @I ailasa &I gidgan 24 SiisT oRm 8 ?

[Question ID = 5356][Question Description = S2_qSNz_PG_FLT_Q91]
Idea of condensation/3iester @t ferarz [Option ID = 21421]

Idea of subconscious/smxiet 1 @1 fe@r [Option ID = 21422]

Idea of mental property/aieiR3eb 3pur @1 farar [Option ID = 21423]

Idea of projection/ygmur @1 fimr [Option ID = 21424]

A wWw N =

Correct Answer :-
e |dea of condensation/3igetel @1 faar [Option ID = 21421]

2) Read the passage given below and answer the questions that follow

The idea of projection brings one logically to psychoanalytic theories of myth, which actually antedate Cassirer's. These
theories come in a variety of forms. Perhaps the best known is the Jungian, because Jung and his followers bring myth into
their basic theoretical suppositions about the nature of the human mind, while the followers of Freud treat the phenomena
of myth as derivative from other fundamental properties. The kernel of all psychoanalytic theories of myth is the
assumption that the symbols of myth and, possibly, the themes underlying the plots are constructed in, or well up from, the
unconscious: and when psychoanalysts use the word ‘unconscious' they do not mean by this what most laymen mean by the
term 'subconscious’. The material of the unconscious is not on the tip of the conscious tongue; it cannot readily be made
conscious, except by using a theory which, firstly, interprets the symbols of the unconscious in the language of
consciousness and secondly, unravels the processes of condensation, displacement, splitting, etc., which are characteristic
of it.

For Jung, the symbolic structure of the unconscious is a reality, sui generis: it cannot be fully reduced to any other level of
experience. Some of this symbolic substratum is shared by all humans; other parts are shared only by members of the same
race, nation or cultural group. (Neo-Jungians would opt for cultural group and stress socialisation as opposed to racial-
genetic inheritance.) The universal characteristics of the collective unconscious of mankind takes local forms.

forgoifeiRaa srerior o1 ufeu 3iik gl @ 3= difsio ©

gaIuvr oI R oaep aifdbs su A firere & seifaesuvit Rigidl am o siar 3 st aeda: @ Brir @1 yfefesifesa 3 as Rigia «f ul 3 ure
SIrd 3 9IRIG Adiftre yaferd Sisikiel 8 adiifcs Sist 3R sfoid iofARil fdrera ol HAreld fad® @ yapfel @ difcras Rigifoam Areaarsii 3 aiase
@ 3 SIafp Brse @ SRR Brere &l uferelr 1 deid IVl A PrUool Al 3 Biere @ Wil Ieifrauvll RBrgredl o e 3 s yd arvn
oIrd 3 o frerw & Ada Hyad: delidd 3 sfodafoifdd I 3RIdol #ol 3 IcUool BIdl 3 3i17 S AcIISUD 3RIdol 916G DI YRIPT B 3 ad IAA
IoIopT MIYRT a6 18l BXI SIAI 5 3ifRrepi9r PTG HTeId Aol UG bl MMBYRI IS & 3RIdel a3qe Adel fresr @ 36] T 3 o1&l 3e; A
dcDIcl Aol oIl JoIRII SIT ADdl A el I RFeufer o seimar BRI Rigia o1 QRIPT 2 YEI: A<iadl ol 16T 3 3rde el @ Addl df
RIReAT Y Sl 3 3ii= foddiRia: Huctol faremuet ¥vse 31fc Sl s  sifdreneifoTe gitpRisil 3 sa®1 W@ gRYI b sirr 8, aaa Rafer 3
3MATeM A I8l TR SIT ADAT 3

SioT @5 HATGLRAR 3I<Iciol Hol bl ATDITD AT LAk, FaRIY 3 ; 3 Yuid: eI 3ofd D 36 [l Fa? ad o1l R It Addl 3 didaua
JAidfere sifercorer il safep=al 3 Bl 3; srew sior dact A oret, g A1 AiFGirs WP D Al A et iar 3 (sra-siel ARDRe AHgs
3R Aot JABHBT D olRIcHl-Sieiford soraifdrpdr @ fawrl & Fu 3 sruerd 3)

JHlold AT bl AHR® [addel D ARG cIgiv1 Fenfored Fasu 3JEuT B2 odl &

The significant study material of myth for psychoanalysis to unravel the unconscious encompasses:
A. Symbols of myth

B. Plots of myth

C. Images of myth

D. Narration of myth

Choose the correct answer from the options given below:

36l Hol DI cTelol D e seifrauwm! o forfdra Brere & Aecayv! sierIe ARE] 2 foafeliaa 3 2 ®le A aca onfde 3 :
A. frers @& dAdsa

B. f¥rerm @1 Deureid

C. B o fpa

D. RBrer &I s

off<l feu are faeal 3 A A3l Ia= ol ¢



[Question ID = 5357][Question Description = S2_qSNz_PG_FLT_Q92]

1. A and B only/dact A siiz B [Option ID = 21425]
2. Aand D only/dsaet A siiz D [Option ID = 21426]
3. Band C only/d@act B siiz C [Option ID = 21427]
4. Cand D only/daet C iz D [Option ID = 21428]

Correct Answer :-
e A and B only/dbaer A 3iiz B [Option ID = 21425]

3) Read the passage given below and answer the questions that follow

The idea of projection brings one logically to psychoanalytic theories of myth, which actually antedate Cassirer's. These
theories come in a variety of forms. Perhaps the best known is the Jungian, because Jung and his followers bring myth into
their basic theoretical suppositions about the nature of the human mind, while the followers of Freud treat the phenomena
of myth as derivative from other fundamental properties. The kernel of all psychoanalytic theories of myth is the
assumption that the symbols of myth and, possibly, the themes underlying the plots are constructed in, or well up from, the
unconscious: and when psychoanalysts use the word ‘'unconscious' they do not mean by this what most laymen mean by the
term 'subconscious’. The material of the unconscious is not on the tip of the conscious tongue; it cannot readily be made
conscious, except by using a theory which, firstly, interprets the symbols of the unconscious in the language of
consciousness and secondly, unravels the processes of condensation, displacement, splitting, etc., which are characteristic
of it.

For Jung, the symbolic structure of the unconscious is a reality, sui generis: it cannot be fully reduced to any other level of
experience. Some of this symbolic substratum is shared by all humans; other parts are shared only by members of the same
race, nation or cultural group. (Neo-Jungians would opt for cultural group and stress socialisation as opposed to racial-
genetic inheritance.) The universal characteristics of the collective unconscious of mankind takes local forms.

forgaifeiRaa srernor ol ufeu 3z gool @ 3a= difsm @

gaiuul oI iR <=reb aifdbe U A Bree @ Feifaeauvit Rigidl ae o Siar & Sit aeda: @ RBRIR oI gfefdoifoa & ue Rigia o sul 3 ure
SIrd 3 9IRIG Adiftre yaferd Sisikiel 3 asiifes Sist 3l 3ol iofAril fdrera ol HArela fadm @ yapfer @ difer Rigifoam areaarsii 3 afase
@ 3 SIafp Brse @ SRR Brere &l ufserelr I Jetsd 3Vl A FrUool Aol 3 RBiere @ Wil Ieifrauvll RBrgredl o e 3 =B yd arvn
oIrd 3 b frers & Adda Hyad: delidd 3 sfodafoifdd I 3RIdol #ol 3 IcUool BIdl 3 i1 S AcIISUD 3RIdol 916G DI YRIPT B 3 dd WA
IoIopT IYRT a6 18l BXT SIAI 5 3ifRrepi9n TG ATeId ATl UG bl MMBYRI IS 3 3RIdel a3qe Adel fresr @ 35] 81T 3 o1&l 3Xe; A
AcDIcl Aol o1l ToIRII SIT ADl A el 3 Feufer & semmar BRI Rigia o1 QRIST 2 YEI: Aiadl o 16T 3 3 el @ Addl df
ARG <bY Sl 3 3ii= fgeia: Jaere farenmaer Fvsa 31fS SRl sd  ifdrcngifivTe YipArsii 3 s3I FRALGRYI v Sirar 3, Jrdd R-afer 3
3MATeM A I8l IR SIT ADAT 3

SioT @ HATGLRAR 3IKIciol Hol bl ATDITD ATl Ak, FaRiyY 8 ; 3 Yuid: eI 3opd D 316 [l Far ad ol orRn S Addar 3 oidua
Aibier® 3ifereotor il cafepal 3 Bl 3; 316 3191 Dact AT ol¥el, AT AT ARFDITD AP D AL i [demret Sidr 3 (cla-Siell ARDITD AHgs
3R Aot JABHBUT D olRIcHl-Sieiford soraifdrpdr @ fawrl & Hu ¥ sruerd 3)

JHlold ALY bl AHR® [addel B ARG cIgiv1 Fenfored Fasu 3JEuT B2 odl &

Match List | with List Il

List | List Il

Person Idea

A. Freud |. Subconscious

B. Jung Il. Socialization

C. Laymen Ill. Myth as a derivative form

D. Neo-Jungians |IV. Experience is non-reduceable

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 ot -l

(cafep) (fera)

A. GRS |. sradidot

B. sior 1. pamshia3ur

C. it Ill. geufer @ wu 3 Brers
D. o Sisft IV. 3opd gIRIATel o1l &

ofla fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 5358][Question Description = S2_qSNz_PG_FLT_Q93]

A-IV,B-1ll,C-1,D-1I/A-1V,B-1ll, C-1,D - Il [Option ID = 21429]
A-1l,B-1V,C-1,D-1/A-1ll,B-1V, C-1, D - Il [Option ID = 21430]
A-1,B-1V,C-Hl,D-1/A-11,B-1V,C-1ll,D- | [Option ID = 21431]
A-1,B-1l,C-1V,D-1/A-1,B-1l,C-1V, D - lll [Option ID = 21432]

A W N -



Correct Answer :-
e A-IV,B-1ll,C-1,D-1I/A-1IV,B-1l,C-1,D-Il[Option ID = 21429]

4) Read the passage given below and answer the questions that follow

The idea of projection brings one logically to psychoanalytic theories of myth, which actually antedate Cassirer's. These
theories come in a variety of forms. Perhaps the best known is the Jungian, because Jung and his followers bring myth into
their basic theoretical suppositions about the nature of the human mind, while the followers of Freud treat the phenomena
of myth as derivative from other fundamental properties. The kernel of all psychoanalytic theories of myth is the
assumption that the symbols of myth and, possibly, the themes underlying the plots are constructed in, or well up from, the
unconscious: and when psychoanalysts use the word 'unconscious’ they do not mean by this what most laymen mean by the
term 'subconscious’. The material of the unconscious is not on the tip of the conscious tongue; it cannot readily be made
conscious, except by using a theory which, firstly, interprets the symbols of the unconscious in the language of
consciousness and secondly, unravels the processes of condensation, displacement, splitting, etc., which are characteristic
of it.

For Jung, the symbolic structure of the unconscious is a reality, sui generis: it cannot be fully reduced to any other level of
experience. Some of this symbolic substratum is shared by all humans; other parts are shared only by members of the same
race, nation or cultural group. (Neo-Jungians would opt for cultural group and stress socialisation as opposed to racial-
genetic inheritance.) The universal characteristics of the collective unconscious of mankind takes local forms.

forgaiferRaa sterior ol ufgu 3iie Yoar @ IR SifSte @

ggIuvl oI AR e aifdba U A fBrere @ selifaessuvt Rigidl am o Sirer 3 Sit aeda: @ RBrRIr @1 gfafesifioa & as Rigia o ul 3 ure
SIrd 3 9IRIG Jdiferes yaferda SiviRiel 3 ariifep Sist 3R soid efARil e ol Hrera fad® & gopfer o difers Rigifoam are=rarsii 3 Fremnfase
D & S \BIse D SIIARI B31erm ol ufseren @I Jerid 3Ivll A Icdool Aleld & f3rerm o Wsil Felifcsuvil Rigodl @ et 3 =18 gd arun
I 3 fop f¥reres @ JAd>a Aad: deliad 3 fedfoifdd s 3ol el 3 IcUool BIAT 3 3R SId AGNIASHD Aol 916G I YRIIPI DA 3 ad A
IoIopT IYRT a6 o181 BT SIAT o5 3if2rapi9n AATGA HleId AATST UG I MMYRT IS 3 3rdel a3qQ Adol fBresr a5 39 T 3 o1&l 31 3A
AcapIcT AUcTol o181 ToIRI SIT ADBT 3A dadd 3A Ferfer @ smremmar S Rrgia o1 gRIeT a2 geRrd: Jdadr bl simer 3 3rddel Aol @ Addl bt
eI <bt Sl 3 3ii= fgeizra: Jere firenaer Fvsa 31fe SiRl s sifdrengifdte gipamsil 3 s3I FeRILgRuI fdpen Sirar 3, 1 R-erfer i
RATGA 3 I8l CIRI SIT DI

Siel @ HATGLAR 3ol Hol I ATDITd el emef, IRy 3 ; 33 Yula: acrd? siopd @ 31 Bl Fa3 ad ol oIk St ADAr 3 DITwRT
AiDierD 3ifereoror il AfpRIL 3 BNl 3; 36 39T Dact AT ol¥cl, AT AT ARDIID AP D AL i [deEIIel BIdI 3 (s/a-Siell ARDID AHds
3R dolrd AATSHDUT DI oRACHl-Solfold 3foldifdrmdl @ fAwWRl & HU 3 U6l 3)

JToTd A I ARRBD acdel D ARG 18101 FeAIfold FasU BT B2 oIell &

Sequence the concepts related to idea of projection in myth
A. Myth forms the unconscious

B. Process of displacement

C. Myth forms the natrue of mind

D. Shared by symbolic substratum

Choose the correct answer from the options given below

RBrers & ggiuur & frar A AdfRIa sraemzomnsit oF A8 @1 A rafed G :
A. fireres A 3RIdaer ol o1 forafor alar 3

B. frremuer &t yfgan

C. fIrere A Aol @I Fareu foraivr diar 3

D. sz ADBI® 31er: IR gRI Al o Sirer 8

ofi o s1u fpedl 3 A A8t ST ot :

[Question ID = 5359][Question Description = S2_qSNz_PG_FLT_Q9%4]

. A, C,B,D/A,C, B, D [Option ID = 21433]
. B, D, A, C/B, D, A, C [Option ID = 21434]
. C, A, B, D/C, A, B, D [Option ID = 21435]

C, B, D, A/C, B, D, A [Option ID = 21436]

A WN -

Correct Answer :-
e A C,B,D/A C, B, D [Option ID = 21433]

5) Read the passage given below and answer the questions that follow

The idea of projection brings one logically to psychoanalytic theories of myth, which actually antedate Cassirer's. These



theories come in a variety of forms. Perhaps the best known is the Jungian, because Jung and his followers bring myth into
their basic theoretical suppositions about the nature of the human mind, while the followers of Freud treat the phenomena
of myth as derivative from other fundamental properties. The kernel of all psychoanalytic theories of myth is the
assumption that the symbols of myth and, possibly, the themes underlying the plots are constructed in, or well up from, the
unconscious: and when psychoanalysts use the word 'unconscious’ they do not mean by this what most laymen mean by the
term 'subconscious’. The material of the unconscious is not on the tip of the conscious tongue; it cannot readily be made
conscious, except by using a theory which, firstly, interprets the symbols of the unconscious in the language of
consciousness and secondly, unravels the processes of condensation, displacement, splitting, etc., which are characteristic
of it.

For Jung, the symbolic structure of the unconscious is a reality, sui generis: it cannot be fully reduced to any other level of
experience. Some of this symbolic substratum is shared by all humans; other parts are shared only by members of the same
race, nation or cultural group. (Neo-Jungians would opt for cultural group and stress socialisation as opposed to racial-
genetic inheritance.) The universal characteristics of the collective unconscious of mankind takes local forms.

forgaifeiRaea srerior o ufeu siiz geot & 3az difsme ©

ggiuvr ol AR e aifeba U A frere & selifesuvit Rigidl ae o sirar 3 st avda: @ Brir @1 gfefeaifeea 3 us Rigia «f ul 3 ure
Sl 3 9IRIG Aalfere gafer sisikiet 3 ariifes Sivl SiiR 3ol SIoRIRIL Bere @l e/ fd® @ yoii @ difere Rigifoad arewrdmsii 3 Frenfiee
@ 3 SIafs Brse @ SRR Brerd &l ufseroln oI Jerd Iyvll A PrUool Aleld 3 f¥erd @ il Feifrauvll Brgrodl @ et 4 =8 yd arvn
oard 3 o frer @ Jd>a Iad: DAUiAD 3 fodfelfdd S 3[cIdel ol 3 ool BIdl 3 3iI2 S HGIASUD 36l 916G DI YRIIPT DI & dd TR
JoTepT SMfIYRI a8 o1dl BIar SiAT 5 IIfRraior AT HAleld Aol UG BT MHYRI AHSIA 3 3ol a8 Adol fSIea1 @ 31F] T 3 oldl Ble; IA
AcPIcT Aol oldl FolRI ST ADAl $A dadl A erfer D sreran B3t Rigia o1 yRileT @2 gererda: Adddr bl T 3 3ol ol @ JAddl i
e bt St 3 3iie fgeiRia: Jererer faremaer ¥vsa 3ifS Si s3rd  3ifdrcngivTe gipRIsil 3 $3IdT WBRILgRYI s Sirar 3, I ferfer 3
RITGH A oY TIRIT S ADT &

SiPT @ AAIGRAR 3ol el bl ATDITD et aemel, Far=iy 3 ; 3 Yula: gcrd? sep[E d 36 Bl ¥ ao ol ori S ADar 3 BT
AiDBIeID sifereoret il AfRp=Il 3 Blel 3; 3161 3i91 daet 3l olvel, IS AT ARDITD FIPp D Al I [ereet Adr 3 (sra-Sidvll ARDIID AP
3R dotra AAGHBIT DI olRIchl-SeiforD soidifdrddr @ fawrl @ Hu 3 sruelrd 3)

Jlold AT bl AHRBD 3ol D ATMHIRID cI810T Ferford FaBU 3JEUT B2 oIdl 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The material of the unconscious cannot readily be made conscious except by a theory.
Reason R : The universal characteristics of the collective unconscious of mankind takes local forms.

In light of the above statements, choose the correct answer from the options given below

ofid A1 werot Ru s 3 : uop sifdrperct (A) & wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »a 3 :

sif3rperat (A) @ 3aRidel ol @ dedl dl b Rigia @ Rart dad 61 3 iRiell A ufkafda ol fosen st amar 3
®rRuI (R) : #Ae A1 I ATHRD ra<idell I ATMHIID cI1810T FeIloiRl FaeU 3BT B2 oidl &
SWRIFP PUoll @ 3Mrelld d, ofld 3w 31u frpedl 3 A AR IuYTP IR DI TRIol HIRIT ©

[Question ID = 5360][Question Description = S2_qSNz_PG_FLT_Q95]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) il 31 8 3z (R), (A) &t 36 ==n & [Option ID = 21437]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) clail 3= & ussq (R), (A) ©1 3 careen o1df & [Option ID = 21438]
. Ais true but R is false/(A) 3= 3, alfdpat (R) sricr 3 [Option ID = 21439]

. Ais false but R is true/(A) 3ric 3, cifdpet (R) 3=x 8 [Option ID = 21440]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 31 & 3iR (R), (A) &t 38t =me=n & [Option ID = 21437]

Topic:- FolkLit_C

1) Read the given passage and answer the questions that follow

In order to discuss the various relationships folklore has had with feminist theory it seems necessary to first explore two
fundamental questions- what is feminism? and is there a feminism? Certainly all feminist theory "posits gender as a
significant characteristic that interacts with other characteristics, such as race and class, to structure relationships between
individuals, within groups, and within society as a whole."

Feminists have argued that gender is a fundamental organizing category of experience; sexual inequality is a cultural
construct; and male perspectives have dominated fields of knowledge, shaping paradigms and methods. However, the ways
that each of the many existing feminisms posit gender as an organizing category of experience vary widely. Furthermore,
every discipline has its own approach to applying the tenets of these varying feminisms.

Feminist theory began its relationship with folklore in an era of radical questioning of previously held assumptions. During



the 1970s as the "young Turks" developed new perspectives and laid waste to old definitions, feminists coming out of the
late 1960s women's liberation movement stepped in and added to the general deconstruction of folklore theory and
method.

While these two revolutionary movements perhaps had different specific goals, their larger goals were similar to broaden
the scope of folklore study and redefine the parameters of who might be called the folk.

Feminist folklorists, using the consciousness raising movement as a base, argued that, "traditionally, knowledge, truth, and
reality have been constructed as if men's experiences were normative, as if being human meant being male."

forgaifeiRaa srerior ol ufGu 3iir yest @ 3az difsie

clipardf 3R oIdlarcl Rigia @ dia & fafdicer Jdden uz aaf w2l 3q Yepia: As A1a9Ad 3l SIdI 3 b 31 Jenid ysoil & srerdier &6l siie A ggst
3 orfiart Rigida SisT o v ¥t Ascage fadrudr arora 3 Sit cafepal & did, J3SE B 3ic? 317 A JATST B 3ic? Hdell DBl Aolleg Bt D
fe1u srea fagraarsii e oizet 3k et @ AT uRIulye gz oxdl 3
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2 33 orbl siaR & $AD 3MIeIrEl, YRAD [deiel @ URT ol fdf¥ieol sildlart Rieedl @I ¢Iv] @0l DI 36l FaRi Bl dadldl 3

SIRlarél Rigia of ciloparal @ AT el Adell @I 3 T A 9YRs fepar RBRRI Ao &I amsunsii uz #iféres gost 3oRI Siel cel & 1970 @ gor 3
Sit fap "ot gept” of o1e zftcpivr faplRa fpe 3k geroll uf¥smumsit &bt amefadar ur yeor a3 e, 1960 & gord @ IRy @ osl P sticicler
3 forpal oidiaifcRil of 33 8iq 3 PcH 1 3R diparal Rigia siiz faftr & e fase 3 et =

It $ol Sloll MIfcIPII 3MiGIcioll @ 9IRIG 3IcToT-3IcIoT fAfdrse IZ9A @, IoID RMUD I AWIMGl 8 I IZ9A D cAlpdIdl MEMRIGI D SRR DI
9GIoll 3R clid (BIb) DI URHIIA D6l dIcl AlelGs] DI Yol: UiesIitid dmoell

SIRIAIST clipaIAifc] of SIPReMAI FSTol 3iGIciol UM ISR @ WU I YRIISI D 3T A6 dd 1 &b "aruiy® U A eI, AT 3R ardafdaodr o1
foraiur 531 YR A fop=n sRI 3 SiR1 6l Yl D 3opd ORI &, AT Blol I Jdcld Y Bloll 3

According to Feminists, what is the fundamental organising category of experience?
SIstaifeRil @ 3reRAR, sfopia &l dHiferm Fersslcad vl o= 3 ?

[Question ID = 5361][Question Description = S2_qSNz_PG_FLT_Q96]
1. Male/gzu [Option ID = 21441]

2. Gender/3isz [Option ID = 21442]

3. Class/ast [Option ID = 21443]

4. Race/szc [Option ID = 21444]

Correct Answer :-
e Male/gsu [Option ID = 21441]

2) Read the given passage and answer the questions that follow

In order to discuss the various relationships folklore has had with feminist theory it seems necessary to first explore two
fundamental questions- what is feminism? and is there a feminism? Certainly all feminist theory "posits gender as a
significant characteristic that interacts with other characteristics, such as race and class, to structure relationships between
individuals, within groups, and within society as a whole.”

Feminists have argued that gender is a fundamental organizing category of experience; sexual inequality is a cultural
construct; and male perspectives have dominated fields of knowledge, shaping paradigms and methods. However, the ways
that each of the many existing feminisms posit gender as an organizing category of experience vary widely. Furthermore,
every discipline has its own approach to applying the tenets of these varying feminisms.

Feminist theory began its relationship with folklore in an era of radical questioning of previously held assumptions. During
the 1970s as the "young Turks" developed new perspectives and laid waste to old definitions, feminists coming out of the
late 1960s women's liberation movement stepped in and added to the general deconstruction of folklore theory and
method.

While these two revolutionary movements perhaps had different specific goals, their larger goals were similar to broaden
the scope of folklore study and redefine the parameters of who might be called the folk.

Feminist folklorists, using the consciousness raising movement as a base, argued that, "traditionally, knowledge, truth, and
reality have been constructed as if men's experiences were normative, as if being human meant being male."
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The two significant intellectual movements which broaden the scope of folklore study are:
A. Feminism

B. Young Turks

C. Deconstruction

D. Women'’s Liberation

Choose the correct answer from the options given below:

cliasardl 31¢RIeT BT SRRI JGIol ardl o1 dstayyl difgd siigicret 3 :

A. sidlag

B. ieT gas

C. fooe

D. ot gho

oiil f¢u are faaedl 3 A Al IR ol ©

[Question ID = 5362][Question Description = S2_qSNz_PG_FLT_Q97]

1. Aand D only/dact A siiz D [Option ID = 21445]
2. Band C only/daet B siiz C [Option ID = 21446]
3. Aand B only/dact A aliz B [Option ID = 21447]
4. Cand D only/daet C iz D [Option ID = 21448]

Correct Answer :-
e Aand D only/a>act A siiz D [Option ID = 21445]

3) Read the given passage and answer the questions that follow

In order to discuss the various relationships folklore has had with feminist theory it seems necessary to first explore two
fundamental questions- what is feminism? and is there a feminism? Certainly all feminist theory "posits gender as a
significant characteristic that interacts with other characteristics, such as race and class, to structure relationships between
individuals, within groups, and within society as a whole.”

Feminists have argued that gender is a fundamental organizing category of experience; sexual inequality is a cultural
construct; and male perspectives have dominated fields of knowledge, shaping paradigms and methods. However, the ways
that each of the many existing feminisms posit gender as an organizing category of experience vary widely. Furthermore,
every discipline has its own approach to applying the tenets of these varying feminisms.

Feminist theory began its relationship with folklore in an era of radical questioning of previously held assumptions. During
the 1970s as the "young Turks" developed new perspectives and laid waste to old definitions, feminists coming out of the
late 1960s women's liberation movement stepped in and added to the general deconstruction of folklore theory and
method.

While these two revolutionary movements perhaps had different specific goals, their larger goals were similar to broaden
the scope of folklore study and redefine the parameters of who might be called the folk.

Feminist folklorists, using the consciousness raising movement as a base, argued that, "traditionally, knowledge, truth, and
reality have been constructed as if men's experiences were normative, as if being human meant being male."”
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Match List | with List I

List | List Il

Perspectives Thurst Areas

A. Feminists I. Redefinition of Folk

B. Feminist folklorists |ll. Sexual inequality as a construct
C. Young Turks lll. Gender as structural relationship
D. Feminist theory |[IV. Folklore theory

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - | et -1

(af¥ger)) (rzTayet gi)

A. sIstarét I. clis @Y gor: uf¥snfRra wot

B. oidlarcl eliardifag 1. uop forfdifer @& wu 3 D RTATCIAr
C. o1 gB 1l. ider @ »u 3 Sise

D. srdiarst Rigia IV. clisarat Rigia

ofla fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 5363][Question Description = S2_qSNz_PG_FLT_Q98]

A-1L,B-1V,C-11,D-1/A-1ll,B-1V, C-1lI, D - | [Option ID = 21449]
A-1,B-11,C-1,D-IV/A-1I,B -1, C-1,D- IV [Option ID = 21450]
A-1V,B-1l,C-ll,D-1/A-1V,B-1l,C-lll,D - | [Option ID = 21451]
A-1,B-1V,C-1,D-1/A-11,B-1V,C-1,D- Il [Option ID = 21452]

A W N -

Correct Answer :-
o A-IIl,B-IV,C-Il,D-1/A-1Il, B-1V,C-1l,D-1[Option ID = 21449]

4) Read the given passage and answer the questions that follow

In order to discuss the various relationships folklore has had with feminist theory it seems necessary to first explore two
fundamental questions- what is feminism? and is there a feminism? Certainly all feminist theory "posits gender as a
significant characteristic that interacts with other characteristics, such as race and class, to structure relationships between
individuals, within groups, and within society as a whole.”

Feminists have argued that gender is a fundamental organizing category of experience; sexual inequality is a cultural
construct; and male perspectives have dominated fields of knowledge, shaping paradigms and methods. However, the ways
that each of the many existing feminisms posit gender as an organizing category of experience vary widely. Furthermore,
every discipline has its own approach to applying the tenets of these varying feminisms.

Feminist theory began its relationship with folklore in an era of radical questioning of previously held assumptions. During
the 1970s as the "young Turks" developed new perspectives and laid waste to old definitions, feminists coming out of the
late 1960s women's liberation movement stepped in and added to the general deconstruction of folklore theory and
method.

While these two revolutionary movements perhaps had different specific goals, their larger goals were similar to broaden
the scope of folklore study and redefine the parameters of who might be called the folk.

Feminist folklorists, using the consciousness raising movement as a base, argued that, "traditionally, knowledge, truth, and
reality have been constructed as if men's experiences were normative, as if being human meant being male."

forgoifciRaa srerior o1 ufeu 3iik gool & 3= difsie
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Sequence the concepts in feminist perspectives, as per the passage.
A. Male perspective

B. Deconstruction of folklore theory

C. Sexual inequity

D. Female experience centric

Choose the correct answer from the options given below

3TErior @ 3eRIR, oRlardt uf¥dewr 3 foroifeiRaa sraenzomsii d wraf¥ea Hifs :
A. gsward eftceior

B. ciiwarat Bigia o1 Rep

C. cifSrp srR13TeIdar

D. orft sropra dfoga

oA R s1e Riecdl # A w1 & a2 goi

[Question ID = 5364][Question Description = S2_qSNz_PG_FLT_Q99]

1. C, A, D, B/C, A, D, B [Option ID = 21453]
2. A, C, D, B/A, C, D, B[Option ID = 21454]
3. C,D, B, A/C, D, B, A [Option ID = 21455]
4. B, C, A, D/B, C, A, D [Option ID = 21456]

Correct Answer :-
e C,A D, B/C, A, D, B[Option ID = 21453]

5) Read the given passage and answer the questions that follow

In order to discuss the various relationships folklore has had with feminist theory it seems necessary to first explore two
fundamental questions- what is feminism? and is there a feminism? Certainly all feminist theory "posits gender as a
significant characteristic that interacts with other characteristics, such as race and class, to structure relationships between
individuals, within groups, and within society as a whole.”

Feminists have argued that gender is a fundamental organizing category of experience; sexual inequality is a cultural
construct; and male perspectives have dominated fields of knowledge, shaping paradigms and methods. However, the ways
that each of the many existing feminisms posit gender as an organizing category of experience vary widely. Furthermore,
every discipline has its own approach to applying the tenets of these varying feminisms.

Feminist theory began its relationship with folklore in an era of radical questioning of previously held assumptions. During
the 1970s as the "young Turks" developed new perspectives and laid waste to old definitions, feminists coming out of the
late 1960s women's liberation movement stepped in and added to the general deconstruction of folklore theory and
method.

While these two revolutionary movements perhaps had different specific goals, their larger goals were similar to broaden
the scope of folklore study and redefine the parameters of who might be called the folk.

Feminist folklorists, using the consciousness raising movement as a base, argued that, "traditionally, knowledge, truth, and
reality have been constructed as if men's experiences were normative, as if being human meant being male."”
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Given below are two statements

Statement I: Feminists argued that traditionally, knowledge, truth, and reality have been constructed on 'Male's
experience'.

Statement IlI: Feminist theorists followed women'’s liberation movement to come up with a folklore theory and method.

In light of the above statements, choose the most appropriate answer from the options given below
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[Question ID = 5365][Question Description = S2_qSNz_PG_FLT_Q100]

Both Statement | and Statement Il are correct/@err | diiz || Gleit 2 & [Option ID = 21457]

Both Statement | and Statement Il are incorrect/@erwer | iR 1l el sieta & [Option ID = 21458]

Statement | is correct but Statement Il is incorrect/@em | 31 2, fipoq e |l sieta & [Option ID = 21459]
Statement | is incorrect but Statement Il is correct/@emwt | 3Rt & , fipoqg @ert || 2@ & [Option ID = 21460]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | 3iiz | cleif 28 & [Option ID = 21457]





